
  
 
 
 
 
 
 
 
 

 
                                    
 
 
 
 
 

 
 
 

 
  
 
 
 
 

  
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 1 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                  CONTENTS ___________________                                                                    
 

Company:                                                    Page: 2     Cabinet bracket series:                   Page: 39 
 
Benefits:                                                      Page: 3   Industrial bracket series:                Page: 40-45 

 
Struts 6/15:                                                  Page: 4   Automotive bracket series:            Page: 46-49 

 
Struts 8/18:                                                  Page: 5-6  Drop T:                                              Page: 50-53 

 
Struts 10/22:                                                Page: 7-8  Paddle:                                              Page: 54 

  
Struts 14/28:                                                Page: 9-10  Comp. Lock:                                     Page: 55-56 
 
Struts S/S 6/15:                                           Page: 11  L & T handles:                                  Page: 57-59 

     
Struts S/S 8/18:                                           Page: 12  Over centre hooks:                           Page: 60-62 

 
Struts S/S 10/22 & 14/28:                             Page: 13  Anti–luce:                                           Page: 63-64 

  
Bonnet & Tailgate Support Kits                        Page: 14  Piano Hinge:                                      Page: 65  

    
Chair strut & Accessories                            Page: 15  Piano Hinge:                                      Page: 65  

 
Seat dampers:                                              Page: 16  Centaflex:                                           Page: 67 

 
Oil seals & dust caps:                                 Page: 17  Butt Hinge:                                         Page: 68 
 
Safety struts:                                                Page: 18  Weld on hinge:                                   Page: 69 
 
Protective tube:                                             Page: 19  Spring bolt  :                                      Page: 70-71 

 
Shaft Extensions                                           Page: 20  Lashing ring:                                      Page: 72-73 
 
Rigid Locking strut:                                      Page: 21-22  Drawer Slides:                                    Page: 74-78 

 
Cabinet strut:                                                 Page: 23  Pinchweld:                                          Page: 79-82 

 
Traction strut:                                                Page: 24  Self-adhesive sponge:                       Page: 83 

 
Ball cup series:                                              Page: 25-29  Car Auto Listing:                                Page: 84-96 
 
Ball stud series:                                             Page: 30  Fitment Guide_____________          Page: 97 

 
Clevis & pin series:                                       Page: 31 

  
Eyelet series:                                                 Page: 32-37 

 
Spherical & studded series:                        Page: 38 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 2 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                            COMPANY DETAILS   _______________                                                                                                    
 
 
 

Struts Australia is one of the largest strut suppliers in Australia and carries the widest range of gas 
struts, LED lights, accessories & trailer body hardware in our premises based in Laverton North, 
Victoria. The warehouse facilities including our retail outlet are designed to ensure our clients 
receive high quality products, with quick lead times whilst enjoying excellent customer service 
levels. 

 
Struts Australia services the automotive, industrial, marine & medical industries. Additionally, 
we carry a massive range of Truck, bus & trailer hardware allowing us to offer our customer’s 
high quality products at very competitive prices. We offer a friendly professional service and can 
provide assistance in application design and solutions. Furthermore, due to our large range of 
stock holdings we have the ability and flexibility to respond to customer demands that are made 
possible by having branches and distribution outlets throughout Australia. 
  
Quality is paramount at Struts Australia and we carry with pride distributing one of the best 
performing gas struts in Australia. Our gas struts are manufactured under ISO/TS 16949 that has 
been developed by the industry, “the International Automotive Task Force” (IATF), to encourage 
improvement in both the supply chain and the certification process. In fact, for the majority of 
leading vehicle manufacturers, certification to this specification is a mandatory requirement for 
doing business. 
 
Struts Australia promise to deliver high-quality products that achieve value-added status due to 
reliability and attention to detail. We look forward to building strong, long lasting partnerships 
with our clients and provide a comprehensive product range and support. 
 
     
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 3 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                   BENEFITS  ______ ____________                                                                                                    
 

• Shaft 150 hours salt nitride tested. 
 
• Non corrosive guide block 

 
• Maze dampening system.  

 
• Vulcanized sealing system. 

 
• Made to ISO/TS 16949 standards – Supersedes ISO9001 

          ISO/TS 16949:2002 has been developed by the industry, the International Automotive Task Force (IATF), to encourage 
          Improvement in both the supply chain and the certification process. In fact, for the majority of leading vehicle 
          Manufacturers, certification to this specification is a mandatory requirement for doing business.                

 
• Manufactured under automated process. 

 
• 2 year / 20,000 cycle guarantee. 

 
• Custom labels available upon request. 

 
• Consistent high quality products at competitive 

                    Prices.  



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 4 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                   STANDARD GAS STRUTS 6/15 DIA      ________                                                                                                    
 
 
 
 
 

 
 

Product 
Code 

A  
 Extended  

Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K128-15-30 128 30 098 M6x1.0 50 - 400N 
K142-15-35 142 35 107   M6x1.0 50 - 400N 

K145E-15-40 145 40 105   M6x1.0 50 – 400N 
K150-15-40 150 40 110   M6x1.0 50 - 400N 
K165-15-50 165 45 120   M6x1.0 50 - 400N 
K180-15-55 180 55 125   M6x1.0 50 - 400N 
K195-15-60 195 60 135 M6x1.0 50 - 400N 
K220-15-75 220 75 145 M6x1.0 50 - 400N 
K230-15-80 230 80 150 M6x1.0 50 - 400N 
K240-15-85 240 85 155   M6x1.0 50 – 400N 
K250-15-90 250 90 160   M6x1.0 50 - 400N 
K280-15-105 280 105 175   M6x1.0 50 - 400N 
K300-15-115 300 115 185   M6x1.0 50 - 400N 
K315-15-125 315 125 190   M6x1.0 50 - 400N 
K330-15-130 330 130 200   M6x1.0 50 - 400N 
K340-15-135 340 135 205 M6x1.0 50 - 400N 
K355-15-145 355 145 210 M6x1.0 50 - 400N 
K375-15-155 375 155 220 M6x1.0 50 - 400N 
K380-15-155 380 155 225   M6x1.0 50 – 400N 
K410-15-170 410 170 240   M6x1.0 50 - 400N 
K430-15-180 430 180 250   M6x1.0 50 - 400N 
K500-15-215 500 215 285   M6x1.0 50 - 400N 

 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 5 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                  STANDARD GAS STRUTS 8/18 DIA       ________   
                                                                                        

 
 
 
 

Product 
Code 

(A) Extended 
 Length 

(B) Stroke 
Length 

(B) Compressed 
Length 

Thread 
Pitch 

Newton Force  
 Range 

K175-18-50 175 50 125 M6x1.0 50 - 700N 
K195-18-60 195 57 138   M6x1.0 50 - 700N 
K220-18-70 220 70 150   M6x1.0 50 - 700N 
K230-18-75 230 75 155   M6x1.0 50 - 700N 
K245-18-85 245 85 160   M6x1.0 50 - 700N 
K250-18-90 250 90 160   M6x1.0 50 - 700N 
K265-18-95 265 95 170 M6x1.0 50 - 700N 

K275-18-100 275 100 175 M6x1.0 50 - 700N 
K285-18-105 285 105 180 M6x1.0 50 – 700N 
K290-18-110 290 110 180 M6x1.0 50 - 700N 
K305-18-115 305 115 190   M6x1.0 50 - 700N 
K315-18-120 315 120 195   M6x1.0 50 - 700N 
K320-18-120 320 120 200   M6x1.0 50 – 700N 
K330-18-125 330 125 205   M6x1.0 50 - 700N 
K336-18-130 336 130 206   M6x1.0 50 - 700N 
K340-18-135 340 135 205 M6x1.0 50 - 700N 
K350-18-135 350 135 215 M6x1.0 50 - 700N 
K365-18-145 365 145 220 M6x1.0 50 - 700N 
K375-18-150 375 150 225   M6x1.0 50- 700N 
K385-18-155 385 155 230   M6x1.0 50- 700N 
K405-18-165 405 165 240   M6x1.0 50- 700N 
K410-18-165 410 165 245   M6x1.0 50- 700N 
K415-18-170 415 170 245   M6x1.0 50- 700N 
K425-18-175 425 175 250   M6x1.0 50- 700N 
K430-18-180 430 180 250 M6x1.0 50 - 700N 
K450-18-185 450 185 265 M6x1.0 50 - 700N 
K460-18-190 460 190 270 M6x1.0 50 - 700N 
K465-18-195 465 195 270   M6x1.0 50 - 700N 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 6 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                  STANDARD GAS STRUTS 8/18 DIA       ________                                                                                                    
 

                                                                                       
                                                                                                 
 
 
 

Product 
Code 

(A) Extended 
 Length 

(B) Stroke 
Length 

(C) Compressed 
Length 

Thread 
Pitch 

Newton Force  
 Range 

K470-18-195 470 195 275 M6x1.0 50 - 700N 
K485-18-205 485 205 280   M6x1.0 50 - 700N 
K500-18-210 500 210 290   M6x1.0 50 - 700N 
K505-18-215 505 215 290   M6x1.0 50 - 700N 
K510-18-215 510 215 295   M6x1.0 50 - 700N 
K520-18-225 520 225 295   M6x1.0 50 - 700N 
K525-18-225 525 225 300 M6x1.0 50 - 700N 
K535-18-230 535 230 305 M6x1.0 50 - 700N 
K540-18-235 540 235 305 M6x1.0 50 - 700N 
K550-18-240 550 240 310   M6x1.0 50 - 700N 
K565-18-245 565 245 320   M6x1.0 50 - 700N 
K575-18-250 575 250 325   M6x1.0 50- 700N 
K585-18-255 585 255 330   M6x1.0 50- 700N 
K595-18-260 595 260 335   M6x1.0 50- 700N 
K600-18-265 600 265 335 M6x1.0 50- 700N 
K615-18-270 615 270 345 M6x1.0 50 - 700N 
K630-18-275 630 275 355 M6x1.0 50 - 700N 
K650-18-285 650 285 365   M6x1.0 50 - 700N 
K670-18-295 670 295 375   M6x1.0 50 - 700N 
K680-18-305 680 305 385   M6x1.0 50 - 700N 
K700-18-315 700 315 385   M6x1.0 50 - 700N 
K720-18-325 720 325 395   M6x1.0 50 - 700N 
K730-18-330 730 330 400 M6x1.0 50 - 700N 
K750-18-340 750 340 410 M6x1.0 50 - 700N 
K800-18-365 800 365 435   M6x1.0 50 – 500N 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 7 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                     STANDARD GAS STRUTS 10/22 DIA   ________                                                                                                    
 
 
 
 
 

 
Product 

Code 

A  
 Extended 
 Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K195-22-60 195 60 135 M8x1.25 50 – 1200N 
K250-22- 85 250 85 165   M8x1.25 50 – 1200N 
K295-22-105 295 105 190   M8x1.25 50 - 1200N 
K330-22-125 330 125 205   M8x1.25 50 - 1200N 
K350-22-135 350 135 215   M8x1.25 50 - 1200N 
K375-22-145 375 145 230   M8x1.25 50 - 1200N 
K405-22-160 405 160 245 M8x1.25 50 - 1200N 
K430-22-175 430 175 255 M8x1.25 50 - 1200N 
K450-22-185 450 185 265 M8x1.25 50 - 1200N 
K470-22-195 470 193 277 M8x1.25 50 - 1200N 
K485-22-200 485 200 285   M8x1.25 50 - 1200N 
K500-22-210 500 210 290   M8x1.25 50 - 1200N 
K505-22-210 505 210 295   M8x1.25 50 - 1200N 
K525-22-220 525 220 305   M8x1.25 50 - 1200N 
K550-22-235 550 235 315   M8x1.25 50 - 1200N 
K565-22-240 565 240 325 M8x1.25 50 - 1200N 
K575-22-245 575 245 330 M8x1.25 50 - 1200N 
K595-22-255 595 255 340 M8x1.25 50 - 1200N 
K620-22-270 620 270 350   M8x1.25 50 - 1200N 
K630-22-275 630 275 355   M8x1.25 50 - 1200N 
K650-22-285 650 285 365   M8x1.25 50 - 1200N 
K670-22-295 670 295 375   M8x1.25 50 - 1200N 
K700-22-310 700 310 390   M8x1.25 50 - 1200N 
K730-22-325 730 325 405 M8x1.25 50 - 1200N 
K750-22-335 750 335 415 M8x1.25 50 - 1200N 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 8 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                  STANDARD GAS STRUTS 10/22 DIA   _  _______                                                                                                    
 
 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended  

Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K770-22-345 770 345 425 M8x1.25 50 - 1200N 
K795-22-355 795 355 440 M8x1.25 50 - 1200N 
K816-22-365 816 365 451   M8x1.25 50 - 1200N 
K830-22-375 830 375 455   M8x1.25 50 - 1200N 
K850-22-380 850 380 470   M8x1.25 50 - 1200N 
K900-22-405 900 405 495   M8x1.25 50 - 1000N 
K930-22-420 930 420   510   M8x1.25 50 - 1000N 
K940-22-430 940 430 510 M8x1.25 50 - 1000N 
K975-22-445 975 445 530 M8x1.25 50 - 1000N 

K1035-22-470 1035 470 565 M8x1.25 50 - 1000N 
K1100-22-505 1100 505 595   M8x1.25 50 - 1000N 
K1200-22-555 1200 555 645   M8x1.25 50 - 1000N 

 
 
 
 
 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 9 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                  STANDARD GAS STRUTS 14/28 DIA   _  _______                                                                                                    
 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended 
 Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K195-28-60 195 60 135 M10x1.5 50 – 2200N 
K250-28-85 250 85 165 M10x1.5 50 - 2200N 
K295-28-105 295 105 190 M10x1.5 50 - 2200N 
K330-28-125 330 125 205 M10x1.5 50 - 2200N 
K375-28-145 375 145 230 M10x1.5 50 - 2200N 
K405-28-160 405 160 245 M10x1.5 50 - 2200N 
K430-28-175 430 175 255 M10x1.5 50 - 2200N 
K450-28-185 450 185 265 M10x1.5 50 - 2200N 
K485-28-200 485 200 285 M10x1.5 50 - 2200N 
K505-28-210 505 210 295 M10x1.5 50 - 2200N 
K525-28-220 525 220 305 M10x1.5 50 - 2200N 
K550-28-235 550 235 315 M10x1.5 50 - 2200N 
K600-28-260 600 260 340 M10x1.5 50 - 2200N 
K630-28-275 630 275 355 M10x1.5 50 - 2200N 
K640-28-280 640 280 360 M10x1.5 50 - 2200N 
K650-28-285 650 285 365 M10x1.5 50 - 2200N 
K670-28-295 670 295 375 M10x1.5 50 – 2200N 
K700-28-310 700 310 390 M10x1.5 50 - 2200N 
K720-28-320 720 320 400 M10x1.5 50 - 2200N 
K730-28-325 730 325 405 M10x1.5 50 - 2200N 

 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 10 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                  STANDARD GAS STRUTS 14/28 DIA   _  _______ 
 
 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended  

Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K750-28-335 750 335 415 M10x1.5 50 - 2000N 
K800-28-360 800 360 440 M10x1.5 50 - 2000N 
K830-28-375 830 375 455 M10x1.5 50 - 2000N 
K850-28-380 850 380 470 M10x1.5 50 - 2000N 
K885-28-400 885 400 485 M10x1.5 50 - 2000N 
K900-28-405 900 405 495 M10x1.5 50 - 2000N 
K940-28-425 940 425 515 M10x1.5 50 - 2000N 
K1100-28-505 1100 505 595 M10x1.5 50 - 1800N 
K1200-28-555 1200 555 645 M10x1.5 50 - 1800N 

 
 
 
 
 
 
 
 

 
  MASSIVE 
    RANGE! 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 11 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                        316 STAINLESS STEEL GAS STRUTS 6/15 DIA    _ __ 
 
 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended 
 Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 

 
Newton Force  

 Range 

K155SS-15-45 155 45 110 M6x1.0 50 – 400N 
K195SS-15-60 195 60 135   M6x1.0 50 - 400N 
K235SS-15-85 235 85 150   M6x1.0 50 - 400N 
K255SS-15-95 255 95 160   M6x1.0 50 - 400N 
K275SS-15-100 275 100 175   M6x1.0 50 - 400N 
K315SS-15-125 315 125 190   M6x1.0 50 - 400N 
K375SS-15-150 375 150 225 M6x1.0 50 - 400N 
K390SS-15-160 390 160 230 M6x1.0 50 - 400N 

 
 
 
 
 
 

316 S/S 
 MARINE 
  GRADE 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 12 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

316 S/S 
 MARINE 
  GRADE 

 

                         316 STAINLESS STEEL GAS STRUTS 8/18 DIA     ___ 
 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended 

Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 

 
Newton Force  

 Range 

K310SS-18-115 310 115 195 M6x1.0 50 - 700N 
K315SS-18-120 315 120 195   M6x1.0 50 - 700N 
K325SS-18-125 325 125 200   M6x1.0 50 - 700N 
K350SS-18-140 350 140 210   M6x1.0 50 - 700N 
K390SS-18-160 390 160 230   M6x1.0 50 - 700N 
K400SS-18-165 400 165 245   M6x1.0 50 - 700N 
K410SS-18-165 410 165 245   M6x1.0 50 - 700N 
K450SS-18-185 450 185 265   M6x1.0 50 - 700N 
K510SS-18-215 510 215 295   M6x1.0 50 - 700N 
K525SS-18-225 525 225 300 M6x1.0 50 – 700N 
K585SS-18-255 585 255 330 M6x1.0 50 - 700N 
K610SS-18-270 610 270 340 M6x1.0 50 - 700N 
K710SS-18-320 710 320 390 M6x1.0 50 - 700N 

 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 13 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

316 S/S 
 MARINE 
  GRADE 

 

          316 STAINLESS STEEL GAS STRUTS 10/22 & 14/28 DIA   _ 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended 

Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Diameter 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K295SS-22-110 295 110 185 10/22 M8x1.25 50 - 1200N 
K350SS-22-135 350 135 215 10/22   M8x1.25 50 - 1200N 
K405SS-22-160 405 160 245 10/22   M8x1.25 50 - 1200N 
K450SS-22-185 450 185 265 10/22   M8x1.25 50 - 1200N 
K505SS-22-210 505 210 295 10/22   M8x1.25 50 - 1200N 
K525SS-22-220 525 220 305 10/22   M8x1.25 50 - 1200N 
K595SS-22-255 595 255 340 10/22   M8x1.25 50 - 1200N 
K710SS-22-315 710 315 395 10/22 M8x1.25 50 - 1000N 
K750SS-22-335 750 335 415 10/22 M8x1.25 50 - 1000N 
K820SS-22-370 820 370 450 10/22 M8x1.25 50 - 1000N 
K1100SS-22-505 1100 505 595 10/22 M8x1.25 50 - 1000N 

 
Product 

Code 

A  
 Extended 

Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Diameter 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K505SS-28-210 505 210 295 14/28 M10x1.5 50 - 2200N 
K595SS-28-255 595 255 340 14/28 M10x1.5 50 - 2200N 
K710SS-28-315 710 315 395 14/28 M10x1.5 50 - 2200N 
K750SS-28-335 750 335 415 14/28 M10x1.5 50 - 2200N 
K830SS-28-375 830 375 455 14/28 M10x1.5 50 – 2000N 
K910SS-28-410 910 410 500 14/28 M10x1.5 50 - 1800N 
K1100SS-28-505 1100 505 595 14/28 M10x1.5 50 - 1800N 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 14 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                    BONNET & TAILGATE SUPPORT KITS        _ 
 
 
 
 
 
 
 
 
 
Part Number Model Description 
BSKTRI05-14 Mitsubishi Triton MN,ML 05-14 Bonnet Support KIT 

      BSKTRI15+ Mitsubishi Triton MQ 15 + Bonnet Support KIT 
      BSKHIL15+ Toyota Hilux 15 + Bonnet Support KIT 

BSKHIL05-14 Toyota Hilux 04-15 Bonnet Support KIT 
BSKDMAX02-11 Isuzu Dmax 02-11 Bonnet Support KIT 

BSKDMAX-COL12+ Isuzu Dmax / Holden Colorado 12+ Bonnet Support KIT 
BSKD405-15 Nissan Navara D40 Bonnet Support KIT 

BSKNP30016+ Nissan Navara NP300 Bonnet Support KIT 
BSKRAN12+ Ford Ranger 12+ Bonnet Support KIT 
BSKPAJ06-18 Mitsubishi Pajero Bonnet Support KIT 
Part Number Model Description 
TSTRI05-14 Mitsubishi Triton MN,ML 05-14 Tailgate Support Kit 
TSHIL05-14 Toyota Hilux 04-15 Tailgate Support Kit 
TSHIL15+ Toyota Hilux 15 + Tailgate Support Kit 

TSNAV08-12 Nissan Navara D40 Tailgate Support Kit 
TSDMAX-COL12+ Isuzu Dmax / Holden Colorado 12+ Tailgate Support Kit 
TSRAN-BT5012+ Ford Ranger / BT 50 12+ Tailgate Support Kit 

 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 15 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                       CHAIR STRUTS  & ACCESSORIES                  _     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code E/Length 
Description 

Shaft Length Shaft Dia 
mm 

Cylinder Dia 
mm 

Newton Force 

KCS100 360mm 100mm 26.5/28.0 48.0 350N 
KCS140 420mm 140mm 26.5/28.0 48.0 350N 
KCS200 570mm 200mm 26.5/28.0 48.0 350N 
KCS265 695mm 265mm 26.5/28.0 48.0 350N 
KCSW50 Budget wheel No friction 50mm Hooded n/a 
KCSW50PU Treaded Wheel No friction 50mm Hooded n/a 
KCSW50PUF Treaded Wheel With friction 50mm Hooded n/a 
KSCW60 Treaded Wheel No friction 60mm Hooded n/a 
KCSW600 Nylon base n/a 600mm n/a n/a 
KCSW640 Nylon base n/a 640mm n/a n/a 
KCSW700 Nylon base n/a 700mm n/a n/a 
** Chair base sold separately – require to add wheel castors** 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 16 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                     SEAT DAMPERS                                    _ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Extended length (B) Stroke (A) Compressed 
Length 

Force Range  

KSD214-22-080 214 080 134 250-800 
KSD260-22-095 260 095 165 250-800 
KSD295-22-110 295 110 185 250-800 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 17 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                        OIL SEALS & DUST CAPS                            _ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Description 
KOS615 Oil Seal Vulcanized 6/15 ID 6mm OD 13mm 
KOS818 Oil Seal Vulcanized 8/18 ID 8mm OD 16mm 
KOS1022 Oil Seal Vulcanized 10/22 ID 10mmOD 20mm 
KOS1428 Oil Seal Vulcanized 14/28 ID 14mmOD 25mm 

 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Description 
KDC0818 Dust cap to suit 8/18 
KDC1022 Dust cap to suit 10/22 

 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 18 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                           SAFETY GAS STRUTS                                 _ 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Description 
KS142-18 SAFETY KIT 8-18     RANGE K175-K375 
KS242-18 SAFETY KIT 8-18     RANGE K385-K575 
KS356-18 SAFETY KIT 8-18     RANGE K585-K800 
KS152-22 SAFETY KIT 10-22   RANGE K250-K405 
KS252-22 SAFETY KIT 10-22   RANGE K430-K595 
KS352-22 SAFETY KIT 10-22   RANGE K620-K795 
KS467-22 SAFETY KIT 10-22 RANGE K816-K1035 
KS552-22   SAFETY KIT 10-22 RANGE K1100-K1200 

 

 
 
 
 

NEW 
PRODUCT

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 19 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                            PROTECTIVE  TUBE                                   _ 
 
 
 
  
 
 
 
 
 
 
 
 
 
 

    
Product Code Specifications  Product Code Specifications 

KPT0818 Protective tube to suit   8-18  KGR0818 Grommet to suit   8-18 
KPT1022 Protective tube to suit 10-22  KGR1022 Grommet to suit 10-22 
KPT1428 Protective tube to suit 14-28  KGR1428 Grommet to suit 14-28 

 
 

 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 20 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                           SHAFT EXTENSIONS                                  _ 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code M M2 D E E2 E3 FINISH 
EXT0810M6 M6 M6 8  10 8 10 Steel 
EXT0820M6 M6 M6 8  20 8 10 Steel 
EXT0830M6 M6 M6 8  30 8 10 Steel 
EXT0840M6 M6 M6 8  40 8 10 Steel 
EXT0850M6 M6 M6 8  50 8 10 Steel 
EXT1010M8 M8 M8 10  10 10 12 Steel 
EXT1020M8 M8 M8 10  20 10 12 Steel 
EXT1030M8 M8 M8 10  30 10 12 Steel 
EXT1040M8 M8 M8 10  40 10 12 Steel 
EXT1050M8 M8 M8 10  50 10 12 Steel 
EXT1420M10 M10 M10 14  20 12 15 Steel 
EXT1430M10 M10 M10 14  30 12 15 Steel 
EXT1440M10 M10 M10 14  40 12 15 Steel 
EXT1450M10 M10 M10 14  50 12 15 Steel 
EXTS0810M6 M6 M6 8  10 8 10 316 Stainless  
EXTS0820M6 M6 M6 8  20 8 10 316 Stainless 
EXTS0830M6 M6 M6 8  30 8 10 316 Stainless 
EXTS0840M6 M6 M6 8  40 8 10 316 Stainless 
EXTS0850M6 M6 M6 8  50 8 10 316 Stainless 
EXTS1010M8 M8 M8 10  10 10 12 316 Stainless 
EXTS1020M8 M8 M8 10  20 10 12 316 Stainless 
EXTS1030M8 M8 M8 10  30 10 12 316 Stainless 
EXTS1040M8 M8 M8 10  40 10 12 316 Stainless 
EXTS1050M8 M8 M8 10  50 10 12 316 Stainless 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 21 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                              RIGID LOCKING  GAS STRUTS 10/27  DIA               _ 
 

 
 
 
 
 
 

Code LE LS TS D1-D2 THREAD FORCE 
KRL210-27-150N 210 050 160 10/27 M10x1.0 150N 
KRL220-27-200N 220 050 152 10/27 M10x1.0 200N 
KRL220-27-250N 220 050 152 10/27 M10x1.0 250N 
KRL220-27-350N 220 050 152 10/27 M10x1.0 350N 
KRL220-27-450N 220 050 152 10/27 M10x1.0 450N 
KRL220-27-550N 220 050 152 10/27 M10x1.0 550N 
KRL220-27-650N 220 050 152 10/27 M10x1.0 650N 
KRL332-27-250N 332 105 227 10/27 M10x1.0 250N 

KRLT332-27-600N 332 105 227 10/27 M10x1.0 600N 
KRL407-27-150N 407 130 277 10/27 M10x1.0 150N 
KRL407-27-250N 407 130 277 10/27 M10x1.0 250N 
KRL407-27-350N 407 130 259 10/27 M10x1.0 350N 
KRL407-27-400N 407 130 259 10/27 M10x1.0 400N 
KRL407-27-450N 407 130 259 10/27 M10x1.0 450N 
KRL407-27-550N 407 130 259 10/27 M10x1.0 550N 
KRL407-27-650N 407 130 259 10/27 M10x1.0 650N 
KRL515-22-150N 515 180 330 10/22 M10X1.0 150N 
KRL515-27-250N 515 180 330 10/22 M10X1.0 250N 
KRL515-27-350N 515 180 330 10/22 M10X1.0 350N 
KRL515-27-450N 515 180 330 10/22 M10X1.0 450N 
KRL515-27-550N 515 180 330 10/22 M10X1.0 550N 
KRL515-27-650N 515 180 330 10/22 M10X1.0 650N 
KRL515-27-720N 515 180 330 10/22 M10X1.0 720N 
KRL570-27-500N 570 180 370 10/22 M10X1.0 500N 

       
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 22 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                              RIGID LOCKING  GAS STRUTS 10/27  DIA               _ 
 
 
 
 
 
 
 
 
 
 
 
 

Code LE LS TS D1-D2 THREAD FORCE 
KRL610-27-250N 610 200 410 10/27 M10x1.0 250N 
KRL610-27-300N 610 200 410 10/27 M10x1.0 300N 
KRL610-27-350N 610 200 410 10/27 M10x1.0 350N 
KRL610-27-450N 610 200 410 10/27 M10x1.0 450N 
KRL610-27-550N 610 200 410 10/27 M10x1.0 550N 
KRL610-27-650N 610 200 410 10/27 M10x1.0 650N 
KRL670-27-250N 670 260 410 10/27 M10x1.0 250N 
KRL690-27-250N 690 260 430 10/27 M10x1.0 250N 
KRL690-27-350N 690 260 430 10/27 M10x1.0 350N 
KRL690-27-450N 690 260 430 10/27 M10x1.0 450N 
KRL690-27-550N 690 260 430 10/27 M10x1.0 550N 
KRL690-27-650N 690 260 430 10/27 M10x1.0 650N 

       
       

Code Description 
KRLLB Locking Strut release lever black 
KRLLC Locking Strut release lever chrome 
KRLRH Locking Strut release head 8.0mm Dia M10x1.0 
KRL500 Release cable 500mm long 

KRLC800 Release cable 800mm long 
KRLC1000 Release cable 1000mm long 
KRLC3000 Release cable 3000mm long 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 23 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

ADD END FITTINGS 
TO SUIT  

APPLICATION 

                                           CABINET GAS STRUTS 6/15 DIA                        _ 
 
 
 
 
 
 
 
 

 
Product 

Code 

A  
 Extended 
 Length 

B  
 Stroke 
Length 

C 
Compressed 

Length 

 
Thread 
Pitch 

 
Newton Force  

 Range 
K195-15-60G 195 60 135 M6x1.0 25 - 400N 
K250-15-90G 250 90 160   M6x1.0 25 - 400N 
K280-15-105G 280 105 175   M6x1.0 25 - 400N 

 
 
 
 
 
 
 
 
 
   



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 24 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                   TRACTION  GAS STRUTS                          ___ 
 
 
 
 
 
 
 
 

E  
 Extended Length 

S  
 Stroke 
Length 

 
Diameter 

D1/D2 

 
Newton Force  

 Range 
Min 100 - Max 700 Min 25 –Max 300 8/18 150   - 700N 
Min 150 - Max 900 Min 40 –Max 400 10/22 150 - 1200N 
Min 250 - Max 1500 Min 50 –Max 700 10/27 250 – 1500N 

* Please confirm end fittings required for application. 
 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 25 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                             PLASTIC BALL CUP SERIES                        ___ 
   

 

 
                  

 
     
 
 

 
               KBCP10-18SM6         KBCP10-18FM6 
 
 
             
 
 
 
  

         KBCP10-25BM6                            KBCP10-18RM6                
 
 
 

Product Code C D M Material 
KBCP10-18SM6 18 10 M6 X 1.0mm Metal clip 
KBCP10-18FM6 18 10 M6 X 1.0mm Metal clip 
KBCP10-25BM6 25 10 M6 X 1.0mm Metal clip 
KBCP10-18RM6 18 10 M6 X 1.0mm Metal clip 

 
 
  



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 26 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                PLASTIC BALL CUP SERIES                      ___ 
 
 
 
 
 
 
 
 

Product Code C D M Material 
KBCP10-18PGM6 18 10 M6 X 1.0mm Metal clip 
KBCP10-18PBM6 18 10 M6 X 1.0mm Metal clip 
KBCPS10-18M6 18 10 M6 X 1.0mm Stainless clip 

    
     

       
 
 
 

Product Code D C M Colour 
KBCP10-18GM6 10 18 M6 X 1.0mm Grey 
KBCP10-18BM6 10 18 M6 X 1.0mm Black 
KBCP10-18BM8 10 18 M8X1.25mm Black 
KBCP08-18BM6 8 18 M6 X 1.0mm Black 

        
 

                                        
 
 
 
 

Product Code A B 
KBCP10-18AM6 18 M6 x 1.0 
KBCP10-18AM8 18 M8x1.25 

           
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 27 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                METAL BALL CUP SERIES                         ___ 
 
 
 
 
 
   

 
 
 
 
 
 
 
 
 
 

 
 
 
 

Product Code D E M1   Material 
KBCM08-18EM6 8 18 M6  x  1.0 Black Zinc Plated 
KBCM10-18EM6 10 18 M6  x  1.0 Black Zinc Plated 
KBCM10-25EM6 10 25 M6  x  1.0 Black Zinc Plated 
KBCM10-30EM6 10 30 M6  x  1.0 Black Zinc Plated 
KBCM10-40EM6 10 40 M6  x  1.0 Black Zinc Plated 
KBCM10-21EM8 10 21 M8 x 1.25 Black Zinc Plated 
KBCM10-30EM8 10 30 M8 x 1.25 Black Zinc Plated 
KBCM10-40EM8 10 40 M8 x 1.25 Black Zinc Plated 
KBCM13-21EM6 13 21 M6  x  1.0 Black Zinc Plated 
KBCM13-30EM6 13 30 M6  x  1.0 Black Zinc Plated 
KBCM13-21EM8 13 21 M8 x 1.25 Black Zinc Plated 
KBCM13-30EM8 13 30 M8 x 1.25 Black Zinc Plated 
KBCM13-40EM8 13 40 M8 x 1.25 Black Zinc Plated 
KBCM13-21EM10 13 21 M10 x 1.5 Black Zinc Plated 
KBCM13-30EM10 13 30 M10 x 1.5 Black Zinc Plated 
KBCM13-40EM10 13 40 M10 x 1.5 Black Zinc Plated 
KBCM16-25EM10 16 25 M10 x 1.5 Black Zinc Plated 
KBCM16-35EM10 16 35 M10 x 1.5 Black Zinc Plated 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 28 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                METAL BALL CUP SERIES                         ___ 

 
 
 
 
 
 

Product Code D C M Material 
KBCM10-18XM6 10 18 M6 X 1.0mm Black Zinc Plated 
KBCM10-21XM8 10 18 M6 X 1.0mm Black Zinc Plated 

 
 
 
 
 

duct Code D E Retaining clip M1   Material 
KBCS10-18EM6 10 18 External    M6 x 1.0mm 316 Stainless 
KBCS10-18IM6 10 18 Internal    M6 x 1.0mm 316 Stainless 

KBCS10-30EM6 10 30 External    M6 x 1.0mm 316 Stainless 
KBCS10-21EM8 10 21 External      M8 x 1.25mm 316 Stainless 
KBCS10-18IM8 10 18 Internal    M6 x 1.0mm 316 Stainless 

KBCS10-30EM8 10 30 External      M8 x 1.25mm 316 Stainless 
KBCS13-21EM8 13 21 External      M8 x 1.25mm 316 Stainless 
KBCS13-30EM8 13 30 External      M8 x 1.25mm 316 Stainless 
KBCS13-40EM8 13 40 External      M8 x 1.25mm 316 Stainless 
KBCS13-21M10 13 21 External    M10x1.5mm 316 Stainless 
KBCS13-30M10 13 30 External    M10x1.5mm 316 Stainless 
KBCS13-40M10 13 40 External    M10x1.5mm 316 Stainless 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 29 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                METAL BALL CUP SERIES                         ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

Product Code e d a b m 
KBCM10-25AXM6 25 10 11 23.5 M6 x 1.0 
KBCM13-30AXM8 30 13 13 29.5 M8x1.25 

 
 
 
 
 
 

Product Code e d m 
KBCM10-19AM6 19 10 M6 x 1.0 
KBCM10-19AM8 19 10 M8x1.25 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 30 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                            METAL BALL STUD SERIES                         ___ 
 

         

 
              KBSW10-11M8                       KBSR10-18                    KBSR10-13 

Product Code Specifications 
KBSW10-11M8 10mm dia ball stud with fixed washer 17mm centres M8 x 1.25 10mm long thread 

KBSR1018 10mm dia ball rivet 18mm centres   
KBSR1013 10mm dia ball rivet 13mm centres   

 
    

Product Code a b c d Material 
KBS0810M6 8 M6X1.0 10 13 Black Zinc Plated 
KBS1014M6 10 M6X1.0 14 16 Black Zinc Plated 
KBS1014M8 10 M8X1.25 14 16 Black Zinc Plated 
KBS1030M8 10 M8X1.25 30 16 Black Zinc Plated 
KBS1316M8 13 M8X1.25 16 15 Black Zinc Plated 
KBS1330M8 13 M8X1.25 30 15 Black Zinc Plated 
KBS1316M10 13 M10X1.5 16 15 Black Zinc Plated 
KBS1330M10 13 M10X1.5 30 15 Black Zinc Plated 
KBS1340M10 13 M10X1.5 40 15 Black Zinc Plated 
KBS1620M10 16 M10X1.5 20 16 Black Zinc Plated 
KBSS1014M8 10 M8X1.25 14 16 316 Stainless Steel 
KBSS1316M8 13 M8X1.25 16 15 316 Stainless Steel 

 
 
 

 
 

Product Code a b c d Material 
KBSH1030M8 10 M8X1.25 16 5 Black Zinc Plated 
KBSH1330M10 13 M10X1.5 14 6 Black Zinc Plated 

 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 31 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                        CLEVIS & PIN SERIES                            ___ 
 

 
 
 
 
 
 
Product Code a b d d1 d2 d3 d4 m Material 
KCL0624M6 12 6 6 12 24 9 10 M6x1.0 Zinc Plated 
KCL0636M6 12 6 6 24 36 9 10 M6x1.0 Zinc Plated 
KCL0832M6 16 8 8 16 32 12 14 M6x1.0 Zinc Plated 
KCL0832M8 16 8 8 16 32 12 14 M8X1.25 Zinc Plated 
KCL0848M8 16 8 8 32 48 12 14 M8X1.25 Zinc Plated 
KCL0832M10 16 8 8 16 32 12 14 M10X1.5 Zinc Plated 
KCL1040M10 20 10 10 20 40 15 18 M10X1.5 Zinc Plated 
KCL1060M10 20 10 10 40 60 15 18 M10X1.5 Zinc Plated 

 
 
 
 
 
 
 
Product Code a b d d1 d2 d3 d4 m Material 
KCLS0624M6 12 6 6 12 24 9 10 M6x1.0 Stainless Steel 
KCLS0832M8 16 8 8 28 32 12 14 M8x1.25 Stainless Steel 
KCLS1040M10 20 10 10 20 40 15 18 M10x1.5 Stainless Steel 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 32 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                                EYELET SERIES                                  ___ 
 
 
 
 
 
 
 
 

Product Code D E M B T 
KEMT1X4 6,1 18 M6x1.0 13 3 
KEMT1X5 8,1 18 M6x1.0 13 3 
KEMT1X6 6.1 27 M6x1.0 14 3 

 
 
 
 
 
 
 
 

Product Code D T M E B 
KEMT22 8.1 12 M10X1.5 22 16 

KEMT1Z7 10.1 12 M10X1.5 22 16 
KEMT2Z8 8.1 12 M10X1.5 27 16 

KEMT2Z10 10.1 12 M10X1.5 27 16 
 
 
 
 
 
 
 
 
 

Product Code D T M E B 
KEMT8Z01 6.1 10 M6X1.0 18 18 
KEMT8Z02 8.1 10 M6X1.0 18 18 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 33 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                                EYELET SERIES                                  ___ 
 

 
 
 
 
 

Product Code A E D M Material 
KEMT510M8 18 25 10 M8x1.25 Bright Zinc 
KEMT510M10 18 25 10 M10x1.5 Bright Zinc 

 
 
 
 
 

Product Code D E M T B 
KEM06080518R 8,1 18 M6x1.0 5 16 
KEM06060518R 6.1 18 M6X1.0 5 16 

 
  
 
 
 

Product Code D E M T B 
KEM06080518 8,1 18 M6x1.0 5 16 
KEM06060518 6.1 18 M6X1.0 5 16 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 34 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

KCLIPBMW 8.1 n/a n/a n/a n/a 
                   

                                                                 EYELET SERIES                   __            _ 
 
 
 
 
 
 
 

 
 

Product Code D E M T B 
KEMT068M6 6,1 18 M6x1.0 10 16 
KEMT068D8 8,1 18 M6x1.0 10 16 
KEMT829E21 8.1 21 M8X1.25 10 16 

 
 
 
 
 
 

Product Code D E M T B A Material 
KEMT135221 10.1 21 M8X1.25 10 18 12 Bright Zinc 

KEMT135221D10 10.1 21 M10X1.25 10 15 15 Bright Zinc 
KEMT135221D8 8.1 21 M10X1.25 10 15 15 Bright Zinc 
KEMT081025M8 8.1 25 M8X1.25 10 18 12 Bright Zinc 

KEMT081025M10 8.1 25 M10X1.5 10 18 12 Bright Zinc 
KEMT135221D830 8.1 30 M10X1.5 10 15 15 Bright Zinc 

KEMT831 8.1 35 M8X1.25 10 20 20 Bright Zinc 
KEMT1358 10.1 35 M8X1.25 10 20 20 Bright Zinc 
KEMT1351 8,1 35 M10X1.5 10 18 20 Bright Zinc 
KEMT135 10.1 35 M10X1.5 10 20 20 Bright Zinc 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 35 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

\ 
 

                                                                      EYELET SERIES                  __          _ 
 
 

 
 

    
 

Product Code D E M T A Material 
KES06061118 6.1 18 M6X1.0 11 14 S/S 316 

KES06081121 8.1 18 M6X1.0 11 16 S/S 316 

KES09081121 8.1 21 M8X1.25 11 16 S/S 316 

KES10081121 8.1 21 M10X1.5 11 16 S/S 316 

KES10101121 10.1 21 M10X1.5 11 16 S/S 316 

KEM09081121 8.1 21 M8X1.25 11 16 Black zinc 

KEM09101121 10.1 21 M8X1.25 11 16 Black Zinc 

KEM10081121 8.1 21 M10X1.5 11 16 Black Zinc 

KEM10101121 10.1 21 M10X1.5 11 16 Black Zinc 
 

 
 
 

 
 

Product Code D E M T A Material 
KEM06060524 6.1 24 M6X1.0 5 10 Black Zinc 

KEM06080524 8.1 24 M6X1.0 5 10 Black Zinc 

KEM08080519 8.1 19 M8X1.25 5 11 Black Zinc 

KEM08080528 8.1 28 M8X1.25 5 10 Black Zinc 

KEM08100528 10.1 28 M8X1.25 5 10 Black Zinc 

KEM10100530 10.1 30 M10x1.5 5 14 Black Zinc 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 36 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

KEM10101030 10.1 30 M10x1.5 10 14 Black Zinc 
 

                                                               EYELET SERIES                   __           _ 
  
 
 
 
 
 
 
 
 

Product Code D E M T 
KEPLSE1AM6 6,1 28.5 M6x1.0 10 

KEPLSE1BM6 8,1 28.5 M6x1.0 10 

 
 
 
 
 
 
 

Product Code Specifications 
KRVPIN Rivet pin with plastic bush 

KBRKTB8 Bracket to suit RV pin – 25mm centres 13mm dia 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 37 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 
 

 

                                                                 EYELET SERIES                  __           _ 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code A B C 
KBI031 75 95 20 
KBI032 50 69 17 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code A E D M Material Lever 
KLYBLK-05 11 26.5 8 M10x1.0 Bright Zinc loose 

KRLRH 11 26.5 8 M10x1.0 Bright Zinc Fixed 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 38 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                SPHERICAL & STUDDED ROD SERIES             ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product 
Code 

d d 
    3 

B C 
   1 

W 1 
    3 

D 
    2 

1 
    4 

h 
    1  

1 
    5 

d 
    4 

d 
   5 

d 
   k 

d 
     1 

KSPHS06 6 M6 9 6.75 11 14 20 40 30 5 10 13 12.7 9 
KSPHS08 8 M8 12 9 14 17 24 48 36 5 12.5 16 15.87 10.4 
KSPHS10 10 M10 14 10.5 17 21 26 56 43 6.5 15 19 19.05 12.9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product 
Code 

d1 d3 L1 L2 L3 L4 L5 L6 H W J 

KSRBLM06 M6X1.0 10 11 11 26 16 30 38 5 11 10 
KSRBLM08 M8X1.25 13 12 14 31 19 38 45 6 14 12 
KSRBLM10 M10X1.5 14 21 17 43 23 43 55 7 17 14 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 39 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                               CABINET BRACKET SERIES                       ___ 
 
 
 
 
 
                               KBCA                                    KBCA-1  
       
 
 
 
 
     
                 KBCA-2 
 
 
 
 
 
                                   KBCB                               KBCB-2 

 
 
 
 
 
 
 
 
                                KBCC                   KBCD 
 
 
 
 
 
 
   
                                  KBCD-1              KBCD-2  
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 40 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                        INDUSTRIAL BRACKET SERIES                    ___ 
 
 
 
 
 

Product Code A B C D E F ball position material 
KBII00 10 17 12 3 6.5 12 Internal Bright Zinc 
KBII00S 10 17 12 3 6.5 12 Internal 316 Stainless Steel 
KBII0013 13 21 14 4 7.5 13.5 Internal Bright Zinc 

 
 
 
 
 
 
 
 
 

Product Code A B C D E F ball position material 
KBIE00 10 17 12 3 6.5 12 External Bright Zinc 
KBIE00S 10 17 12 3 6.5 12 External 316 Stainless Steel 
KBIE0013S 13 21 14 4 7.5 13.5 External 316 Stainless Steel 

 
 
 
 
 
 
 

Product Code D ball position material 
KBI01 10 Flat Bright Zinc 
KBI011 13 Flat Bright Zinc 
KBI01S 10 Flat Polished Stainless Steel 
KBI011S 13 Flat Polished Stainless Steel 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 41 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                         INDUSTRIAL BRACKET SERIES                    ___ 
 
 
 
 
 
 
 
 

Product Code D ball position material 
KBII02 10 Internal Black Zinc 
KBIE02 10 External Black Zinc 
KBIE02Z 10 External Bright Zinc 
KBII02S 10 Internal Stainless Steel 
KBIE02S 10 External Stainless Steel 

 
 
 
 
 
 
 
 
 

Product Code D ball position material 
KBII03 10 Internal Black Zinc 
KBIE03 10 External Black Zinc 
KBIE03S 10 External Stainless Steel 

 
 
 
 
 
 
 
 

Product Code D T H material 
KBIF03 10 2.6 5.0 Black Zinc 
KBI03F13 13 4.0 6.0 Black Zinc 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 42 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                         INDUSTRIAL BRACKET SERIES                    ___ 
 
 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBI04 10 n/a Black Zinc 
KBI04S 10 n/a Stainless Steel 

 

 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBI05 10 n/a Black Zinc 

 
 
 
 
 
  
 
 
  
 
 

Product Code D Ball position Material 
KBI070 10 n/a Black Zinc 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 43 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                        INDUSTRIAL BRACKET SERIES                    ___ 
 
 
 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBII08 10 Internal Black Zinc 
KBIE08 10 External Black Zinc 

 
 
 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBII10 10 Internal Black Zinc 
KBIE10 10 External Black Zinc 

 
  
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBIE11L 10 External Black Zinc 
KBIE11R 10 External Black Zinc 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 44 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                       INDUSTRIAL BRACKET SERIES                    ___ 
 
 
 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBIR13 6.1 dia hole n/a Black Zinc 
KBIL13 6.1 dia hole n/a Black Zinc 

 
 
 
 
 

 
 
 

Product Code D Ball position Material 
KBI14Z 8.1 dia hole n/a Bright Zinc 
KBIB14 8.1 dia hole n/a Black Zinc 

 
 
 
 
 
 
 
 

Product Code D T C W Material 
KBI14E13 13mm  4.0mm 27mm 32mm Black Zinc 
KBI14I13 13mm 4.0mm 27mm 32mm Black Zinc 
KBI14M8 M8x1.25mm 4.0mm 27mm 32mm Black Zinc 
KBI14M8S M8x1.25mm 4.0mm 27mm 32mm Stainless Steel 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 45 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                       INDUSTRIAL BRACKET SERIES                    ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBIE17 10 External Black Zinc 

 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code D Ball position Material 
KBIE18 10 External ball Black Zinc 
KBIE18Z 10 External ball Bright Zinc 
KBI18 8.1 dia No ball Black Zinc 
KBI18Z M8x1.25 No ball Bright Zinc 

     
 
 
 
                              
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 46 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                         AUTOMOTIVE BRACKET SERIES                 ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
               
               
               
               
   
          



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 47 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                         AUTOMOTIVE BRACKET SERIES                 ___ 
  
     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
   
      



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 48 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                         AUTOMOTIVE BRACKET SERIES                 ___ 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
      
 
 
 
 
 
             
             
             
       
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 49 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                         AUTOMOTIVE BRACKET SERIES                 ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                           
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 50 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                         FOLDING  T  HANDLES                          ___ 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 

Product Code Key  Description Tongue Material 
70407S-1- 510, 511, 512 Folding T handle Straight Stainless Steel 
70407S- 510, 511, 512 Folding T handle Bent Stainless Steel 

 
 
 
 
 
 
     
 
 
 
 
 
 
 
 
 

Product Code Key  Description Tongue Material 
70407S-1SC- 510, 511, 512 Anti theft Folding T handle Straight Stainless Steel 
70407S-SC- 510, 511, 512 Anti theft Folding T handle Bent Stainless Steel 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 51 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                         FOLDING  T  HANDLES                          ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Tongue Material 
50207-510 510  Folding T handle Straight Stainless Steel 

50208- 510,511 Folding T handle Bent Stainless Steel 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Material 
50007P Pad lockable Folding T handle Stainless Steel 

50007PL 510 key lock Folding T handle  Stainless Steel 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 52 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

\                                                         FOLDING  T  HANDLES                          ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Material 
50038 510 Folding T handle Black Zinc die cast 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 53 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                         FOLDING  T  HANDLES                          ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Material 
70407S-3 WAY 510 Folding T handle Stainless Steel 

70407S-3WAY-SC-FS880 880 Anti theft Folding T handle Stainless Steel 
70407-ROD-3 WAY N/A Rod for 70407-3 way 1200mm 10mm dia ZINC 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 54 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                   PADDLE  LOCKS                                 ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Material 
MCN902ZP-INT 510 Paddle lock interior release Zinc 
MCN902SS-INT 510 Paddle lock interior release Stainless Steel 
MCN902B-INT 510 Paddle lock interior release Black Zinc 

 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 55 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                       COMPRESSION  LOCKS                           ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Material 
10207C- 510,511,512 Compression lock large Chrome 
10207B- 510,511,512 Compression lock large Black 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 56 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                       COMPRESSION  LOCKS                           ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Key  Description Material 
10208C- 510,511,512 Compression lock Small Chrome 
10208B- 510,511,512 Compression lock Small Black 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 57 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  L & T  HANDLES                                 ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
60052ACCW Counter clockwise L handle front fixing Chrome 
60052ACW Clockwise L handle front fixing Chrome 
60052CW Clockwise L handle rear fixing Chrome 

60052CCW Counter clockwise L handle rear fixing Chrome 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
60036CW Clockwise L handle rear fixing pad lockable Chrome 

60036CCW Counter clockwise L handle rear fixing pad lockable Chrome 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 58 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  L & T  HANDLES                                 ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
60005CCW Counter clockwise  T handle front fixing Chrome 
60005CW Clockwise T handle front fixing Chrome 
60006CW Clockwise                T handle rear fixing Chrome 

60006CCW Counter clockwise T handle rear fixing Chrome 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
MCN441 Clockwise T handle front fixing Chrome 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 59 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  L & T  HANDLES                                 ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type  Material 
MCN1586 To suit T & L handle Cam lever Metal 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type  Material 
1000-1588 To suit T & L handle Cam 3 Point adjustable Metal 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 60 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                       OVER CENTRE  LATCH                            ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type  Description Material 
701NLZP Non locking Over Centre Latch Small Zinc 
701NLSS Non locking Over Centre Latch Small Stainless Steel 
701-30ZP Hook Hook to suit 701NLZP Zinc 
701-30SS Hook Hook to suit 701NLSS Stainless Steel 

 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type  Description Material 
701LZP Locking Over Centre Latch Small Zinc 
701LSS Locking Over Centre Latch Small Stainless Steel 

701-30ZP Hook Hook to suit 701LZP Zinc 
701-30SS Hook Hook to suit 701LSS Stainless Steel 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 61 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                       OVER CENTRE  LATCH                            ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
702NLZP Non locking Over Centre Latch Medium Zinc 
702NLSS Non locking Over Centre Latch Medium Stainless Steel 
702-31ZP Hook Hook to suit 702NLZP Zinc 
702-31SS Hook Hook to suit 702NLSS Stainless Steel 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type  Description Material 
702LZP Locking Over Centre Latch Medium  Zinc 
702LSS Locking Over Centre Latch Medium Stainless Steel 

702-31ZP Hook Hook to suit 702LZP Zinc 
702-31SS Hook Hook to suit 702LSS Stainless Steel 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 62 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                       OVER CENTRE  LATCH                            ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type  Description Material 
703NLZP Non locking Over Centre Latch Large Zinc 
703NLSS Non locking Over Centre Latch Large Stainless Steel 
703-41ZP Hook Hook to suit 703NLZP Zinc 
703-41SS Hook Hook to suit 703NLSS Stainless Steel 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
703LZP Locking Over Centre Latch Large Zinc 
703LSS Locking Over Centre Latch Large Stainless Steel 

703-41ZP Hook Hook to suit 703LZP Zinc 
703-41SS Hook Hook to suit 703LSS Stainless Steel 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 63 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                       OVER CENTRE  HOOKS                           ___ 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
702-10Z To Suit 702 Over Centre Hook Medium Zinc 

 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
703-20ZP To Suit 703 Over Centre Bent Hook Large Zinc 

 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
703-22ZP To Suit 703 Over Centre Straight Hook Large Zinc 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 64 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                     ANTI – LUCE FASTENERS                        ___ 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
2224 Weld On Anti luce fastener weld on Zinc 

2224S Weld On Anti luce fastener weld on Stainless Steel 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
2255 Threaded Anti luce fastener bolt on M12x1.25 Zinc 

 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
3274 Weld On Anti luce fastener weld on baby Zinc 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 65 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                     ANTI – LUCE FASTENERS                        ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
3244 Threaded Anti luce fastener M12x1.75 Zinc 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Type Description Material 
3285 Threaded Anti luce fastener threaded 20mm Zinc 

3285SS-20 Threaded Anti luce fastener threaded 20mm Stainless Steel 
3285SS-40 Threaded Anti luce fastener threaded 40mm Stainless Steel 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 66 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                       PIANO HINGE                                   ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
GALVABOND (BRASS PIN) 

Product Code A width B gauge C length D pin E knuckle 
C5167 32mm 1.2mm 1800mm 3.18 20mm 
C5276 38mm 1.2mm 1800mm 3.18 20mm 
C5234 50mm 1.2mm 1800mm 3.18 20mm 
C5089 57mm 1.6mm 2160mm 4.76 40mm 
C5226 63mm 1.6mm 2160mm 4.76 40mm 
C5237 76mm 1.6mm 2160mm 4.76 40mm 
C5004 127mm 2.5mm 2100mm 6.30 50mm 

 
 
STAINLESS STEEL 304 (S/S PIN) 

Product Code A width B gauge C length D pin E knuckle 
C5165 32mm 1.2mm 1800mm 3.18 13mm 
C5200 38mm 1.2mm 1800mm 3.18 13mm 
C5141 50mm 1.2mm 1800mm 3.18 13mm 
05085 57mm 1.6mm 1800mm 4.76 36mm 
05252 76mm 1.6mm 2100mm 4.76 36mm 
05041 127mm 2.5mm 2100mm 6.30 50mm 

 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 67 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                        CENTAFLEX  HINGE                                ___ 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code A D B C Length 
2231/020 28 4 23 16 2 metre 
2231/030 28 4 23 16 3 metre 

      
      

 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 68 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                                      BUTT  HINGE                                   ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Material A B Gauge 
80019 S/S 50mm 38mm 1.2mm 
80129 S/S 70mm 50mm 1.5mm 
80139 S/S 85mm 60mm 1.5mm 
80149 S/S 100mm 75mm 1.5mm 
81149 S/S 100mm 75mm 2.5mm 
89915 Z/P 100mm 75mm 2.5mm 
89925 Z/P 100mm 100mm 2.5mm 
91935 Z/P 70mm 70mm 1.5mm 
91955 Z/P 100mm 100mm 1.6mm 
92145 Z/P 63mm 63mm 1.5mm 
91925 B/S 50mm 50mm 1.5mm 
91931 B/S 70mm 70mm 1.5mm 
89921 B/S 100mm 100mm 2.5mm 

*S/S = Stainless Steel Z/P = Zinc Plated B/S = Bright Steel 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 69 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                            WELD ON  HINGE                                   ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

PART NUMBER LENGTH TYPE MATERIAL 
7005.00.060 60mm No nipple – brass pin Steel 
7005.00.080 80mm No nipple – brass pin Steel 
7005.00.100 100mm No nipple – brass pin Steel 
7005.00.150 150mm No nipple – brass pin Steel 
7005.00.200 200mm No nipple – brass pin Steel 

PART NUMBER LENGTH TYPE MATERIAL 
7011.00.080 80mm Nipple – brass pin Steel 
7011.00.100 100mm Nipple – brass pin Steel 
7011.00.150 150mm Nipple – brass pin Steel 
7011.00.200 200mm Nipple – brass pin Steel 

PART NUMBER LENGTH TYPE MATERIAL 
7005.10.060 60mm No nipple – S/S pin Aluminum 
7005.10.080 80mm No nipple – S/S pin Aluminum 
7005.10.100 100mm No nipple – S/S pin Aluminum 
7011.10.100 100mm Nipple – S/S pin Aluminum 
7005.10.150 150mm No nipple – S/S pin Aluminum 
7005.10.200 200mm No nipple – S/S pin Aluminum 

PART NUMBER LENGTH TYPE MATERIAL 
7010.80.080 80mm No nipple Stainless Steel 
7010.80.100 100mm No nipple Stainless Steel 

 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 70 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                               SPRING  BOLTS                                   ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

PRODUCT CODE D DESCRIPTION MATERIAL 
9535 25mm Spring bolt weston type Zinc plated 

CL263 50mm Spring bolt weston type Zinc plated 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

PRODUCT CODE DETAIL DESCRIPTION MATERIAL 
1561IW5 A Spring bolt short throw Zinc plated 
1557IW2 B Spring bolt long throw Zinc plated 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 71 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                               SPRING  BOLTS                                   ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Description Material 
70701 Spring bolt  Zinc plated 

70101S Spring bolt  Stainless Steel 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Description Material 
70702 Spring bolt  Zinc plated 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 72 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                            LASHING  RINGS                                    ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code SWL Description Material 
98600ZP 200 kilo Lashing ring small Zinc Plated 
98600SS 200 kilo Lashing ring small  Stainless Steel 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code SWL Description Material 
9/01182 200 kilo Lashing ring complete 300F Zinc Plated 
9/01181 200 kilo Lashing ring only Zinc Plated 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 73 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                              LASHING  RINGS                                  ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code SWL Description Material 
98700 700 kilo Lashing ring medium Zinc Plated 
98701 700 kilo Lashing ring medium with spring Zinc Plated 

98700S 700 kilo Lashing ring medium Stainless Steel 
98701S 700 kilo Lashing ring medium with spring Stainless Steel 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code SWL Description Material 
MCN-LR 2000 kilo Lashing ring large Zinc Plated 

MCN-LR-SS 2000 kilo Lashing ring large Stainless Steel 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 74 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                                                DURASLIDE  45 KG                             ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Part  L kilo A B C D E F G H A’ B’ C’ D’ 
DSLD300 300 45 35 96 192 n/a n/a n/a n/a n/a 35 64 224 n/a 
DSLD350 350 45 35 128 256 n/a n/a n/a n/a n/a 35 64 224 n/a 
DSLD400 400 45 35 128 320 n/a n/a n/a n/a n/a 35 64 224 n/a 
DSLD450 450 45 35 160 352 n/a n/a n/a n/a n/a 35 64 224 n/a 
DSLD500 500 45 35 192 416 n/a 416 n/a n/a n/a 35 64 224 352 
DSLD550 550 40 35 224 448 n/a 416 n/a n/a n/a 35 64 224 352 
DSLD600 600 35 35 224 512 n/a 480 n/a n/a n/a 35 64 224 352 
DSLD650 650 35 35 256 544 n/a 512 n/a n/a n/a 35 64 224 352 
DSLD700 700 30 35 288 608 n/a 480 608 n/a n/a 35 64 224 352 
DSLD800 800 30 35 256 512 704 480 608 n/a n/a 35 64 224 352 
DSLD900 900 25 35 288 608 800 480 608 n/a n/a 35 64 224 352 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 75 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

 

                                    DURASLIDE 125 KG  NON-LOCKING              ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Part  L Kilo  A B C D E F G A’ B’ C’ D’ E’ 
DSMD300 300 125 192 n/a n/a 64 n/a 42 n/a 192 n/a n/a n/a n/a 
DSMD350 350 125 256 n/a n/a 72 n/a 100 n/a 64 n/a n/a n/a n/a 
DSMD400 400 125 96 288 n/a 75 n/a 125 n/a 64 n/a n/a n/a n/a 
DSMD450 450 125 128 320 n/a 89 n/a 139 n/a 64 n/a 320 n/a n/a 
DSHD500 500 125 160 384 n/a 121 n/a 175 n/a 64 n/a 384 n/a n/a 
DSMD550 550 110 160 416 n/a 138 n/a 192 n/a 64 n/a 416 n/a n/a 
DSMD600 600 105 192 480 n/a 190 n/a 202 n/a 64 n/a 416 480 n/a 
DSMD650 650 100 224 384 512 48 128 250 192 64 192 288 448 n/a 
DSMD700 700 95 224 416 576 65 160 265 192 64 192 320 480 n/a 
DSMD750 750 90 224 448 608 60 160 300 192 64 192 352 512 n/a 
DSMD800 800 85 224 480 672 69 192 325 192 64 192 384 544 n/a 
DSMD850 850 80 224 512 736 75 224 350 192 64 192 416 576 n/a 
DSMD900 900 75 224 512 768 50 256 375 192 64 192 448 608 n/a 

DSMD1000 1000 70 224 640 864 144 224 410 192 64 192 480 672 864 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 76 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                           DURASLIDE 125 KG  LOCKING                   ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Part Number L Kilo A B C D E F G A’ B’ C’ D’ 

DSMD300L 300 125 192 n/a n/a 39 75 n/a n/a 192 n/a n/a n/a 
DSMD350L 350 125 256 n/a n/a 75 100 n/a n/a 224 n/a n/a n/a 
DSMD400L 400 125 288 n/a n/a 82 118 n/a n/a 288 n/a n/a n/a 
DSMD450L 450 125 96 320 n/a 89 137 n/a n/a 192 320 n/a n/a 
DSMD500L 500 125 128 384 n/a 128 123 n/a n/a 224 384 n/a n/a 
DSMD550L 550 110 160 416 n/a 135 143 n/a n/a 256 416 n/a n/a 
DSMD600L 600 105 160 480 n/a 174 129 n/a n/a 288 480 n/a n/a 
DSMD650L 650 100 192 384 512 53 128 148 n/a 288 512 n/a n/a 
DSMD700L 700 95 224 416 576 60 160 135 n/a 320 576 n/a n/a 
DSMD750L 750 90 224 448 608 67 160 154 192 192 384 608 n/a 
DSMD800L 800 85 224 480 672 74 192 140 192 192 384 544 672 
DSMD850L 850 80 224 512 736 81 224 128 192 192 416 576 736 
DSMD900L 900 75 224 512 768 55 256 146 192 192 448 608 768 

DSMD1000L 1000 70 224 640 864 134 224 152 192 192 480 672 864 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 77 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                      DURASLIDE 225 KG   NON-LOCKING             ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Part  L Kilo A B C D E F G H J K M N P Q R S 
DSHD350 350 225 n/a n/a n/a n/a n/a n/a 205 230 249 268 n/a n/a n/a 254 311 330 

DSHD400 400 225 127 n/a n/a n/a n/a n/a 255 281 300 319 n/a n/a n/a 305 362 381 
DSHD450 450 225 127 n/a n/a n/a n/a 241 306 332 351 370 n/a n/a n/a 356 413 432 
DSHD500 500 225 127 190 n/a n/a n/a 297 357 382 402 421 n/a n/a n/a 406 464 483 

DSHD550 550 225 127 190 n/a n/a n/a 348 408 433 452 471 n/a n/a n/a 457 514 533 
DSHD600 600 225 127 190 n/a n/a n/a 398 457 484 503 522 n/a n/a n/a 508 565 584 

DSHD650 650 225 127 190 n/a n/a n/a 449 509 535 554 573 n/a n/a n/a 559 616 635 
DSHD700 700 225 127 190 n/a n/a n/a 500 560 586 605 624 n/a n/a n/a 610 667 686 
DSHD750 750 225 127 190 368 n/a n/a 551 611 636 656 675 235 n/a 502 660 718 737 

DSHD800 800 220 127 190 368 n/a n/a 602 662 687 706 725 235 394 552 711 768 787 
DSHD850 850 210 127 190 368 470 n/a 652 713 738 757 776 235 419 603 762 819 838 

DSHD900 900 205 127 190 368 521 n/a 703 763 789 808 827 235 444 654 813 870 889 
DSHD950 950 200 127 190 368 521 n/a 754 814 840 859 878 235 470 705 864 921 940 

DSHD1000 1000 195 127 190 368 521 n/a 805 865 890 910 930 235 495 756 914 972 991 
DSHD1050 1050 190 127 190 368 521 724 856 916 941 960 979 235 521 806 965 1022 1041 
DSHD1100 1100 185 127 190 368 521 n/a 906 967 992 1011 1030 235 546 857 1016 1073 1092 

DSHD1150 1150 180 127 190 368 521 n/a 957 1017 1043 1062 1081 235 571 908 1067 1124 1143 
DSHD1200 1200 170 127 190 368 521 825 1008 1068 1094 1113 1132 235 597 959 1118 1175 1194 

DSHD1300 1300 165 127 190 368 521 825 1110 1170 1195 1214 1233 235 570 960 1219 1276 1295 
DSHD1350 1350 160 127 190 368 521 825 1160 1221 1246 1265 1284 235 597 959 1270 1327 1346 
DSHD1400 1400 155 127 190 368 521 825 1211 1271 1297 1316 1335 235 597 959 1321 1378 1397 

DSHD1450 1450 150 127 190 368 521 825 1262 1322 1348 1367 1386 235 597 959 1371 1429 1448 
DSHD1500 1500 140 127 190 368 521 825 1313 1373 1398 1418 1437 235 597 959 1422 1480 1499 

 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 78 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                DURASLIDE 225 KG   LOCKING                  ___ 
 
 
 
 
 
 
 
 

Part Number L Kilo A B C D E F G M N P Q 

DSHD350L 350 225 n/a n/a n/a n/a n/a n/a 186 n/a n/a n/a 235 
DSHD400L 400 225 108 n/a n/a n/a n/a n/a 236 n/a n/a n/a 286 
DSHD450L 450 225 108 n/a n/a n/a n/a 227 287 n/a n/a n/a 336 
DSHD500L 500 225 108 171 n/a n/a n/a 278 338 n/a n/a n/a 387 
DSHD550L 550 225 108 171 n/a n/a n/a 329 389 n/a n/a n/a 438 
DSHD600L 600 225 108 171 n/a n/a n/a 379 440 n/a n/a n/a 489 
DSHD650L 650 225 108 171 n/a n/a n/a 430 490 n/a n/a n/a 540 
DSHD700L 700 225 108 171 n/a n/a n/a 481 541 n/a n/a n/a 590 
DSHD750L 750 225 108 171 n/a n/a n/a 532 592 216 n/a 482 641 
DSHD800L 800 220 108 171 n/a n/a n/a 583 643 216 375 533 692 
DSHD850L 850 210 108 171 349 451 n/a 633 694 216 400 584 743 
DSHD900L 900 205 108 171 349 502 n/a 684 744 216 425 635 794 
DSHD950L 950 200 108 171 349 502 n/a 735 795 216 451 686 844 

DSHD1000L 1000 195 108 171 349 502 n/a 786 846 216 476 737 895 
DSHD1050L 1050 190 108 171 349 n/a 705 837 897 216 502 787 946 
DSHD1100L 1100 185 108 171 349 n/a 705 887 948 216 527 838 967 
DSHD1150L 1150 180 108 171 349 502 705 938 998 216 552 889 1048 
DSHD1200L 1200 170 108 171 349 502 806 989 1049 216 578 940 1098 
DSHD1300L 1300 165 108 171 349 502 806 1091 1151 216 n/a 940 1200 
DSHD1350L 1350 160 108 171 349 502 806 1142 1202 216 578 940 1251 
DSHD1400L 1400 155 108 171 349 502 806 1192 1252 216 578 940 1302 
DSHD1450L 1450 150 108 171 349 502 806 1243 1303 216 578 940 1352 
DSHD1500L 1500 140 108 171 349 502 806 1294 1352 216 578 940 1403 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 79 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                PINCHWELD – SIDE MOUNT                      ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
         
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
                                       
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 80 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                PINCHWELD – SIDE MOUNT                      ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
     
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 81 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                PINCHWELD – TOP MOUNT                      ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 82 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                  PINCHWELD – EDGE PROTECTION                 ___ 
 
 
 

     
 
 
 
 
 
 
                
 
 
 
 
 
 
 
 
 
 
 
 
                      
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 83 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                   SELF ADHESIVE SPONGE                         ___ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Product Code Description Material 
4303-12 PE Foam tape 12x3mmx25 mtr PE foam 
4303-18 PE Foam tape 18x3mmx25 mtr PE foam 
4303-24 PE Foam tape 24x3mmx25 mtr PE foam 
4303-48 PE Foam tape 48x3mmx25 mtr PE foam 
4306-12 PE Foam tape 12x6mmx15 mtr PE foam 
4306-18 PE Foam tape 18x6mmx15 mtr PE foam 
4306-24 PE Foam tape 24x6mmx15 mtr PE foam 
4306-36 PE Foam tape 36x6mmx15 mtr PE foam 
4306-48 PE Foam tape 48x6mmx15 mtr PE foam 
4310-12 PE Foam tape 12x10mmx10 mtr PE foam 
4310-18 PE Foam tape 18x10mmx10 mtr PE foam 
4310-24 PE Foam tape 24x10mmx10 mtr PE foam 
4310-36 PE Foam tape 36x10mmx10 mtr PE foam 
4310-48 PE Foam tape 48x10mmx10 mtr PE foam 

 
 
 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 84 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                CAR AUTO LISTING                             ___ 
 

STA Part MAKE MODEL POSN. Build Date 
STA001 ALFA ROMEO 156 - SEDAN 156 BOOT 1999-05 
STA004 AUDI A6 - S/WAGON AVANT, QUATTRO,B5,C5 TAILGATE 1995-02 
STA005 AUDI A6 - ALL AVANT, QUATTRO,B5,C5 BONNET 1995-02 
STA005A AUDI A6 - SEDAN QUATTRO,C4 BOOT 1994-98 
STA006 AUDI 80 - SEDAN B3,B4 BOOT 1989-94 
STA007A AUDI A3 - HATCH BACK 8L HATCH 5/97-2001 
STA007B AUDI A4 - ALL AVANT, QUATTRO, CABRIOLET, B6 BONNET 2004-08 
STA008 AUDI A4    BOOT 2004-08 
STA0081 AUDI Q7 Q7 TAILGATE 2010 
STA009 BMW 325 I - ALL E30 BONNET 1986-03/91 
STA010 BMW 325 I - SEDAN E30 BOOT 1986-03/91 
STA010A BMW 318I,320I,325I - SEDAN E36 BOOT 1991-99 
STA011 BMW 318I,320I,325I - ALL E36 BONNET 1991-99 
STA011A BMW 318TI - HATCH BACK E36 HATCH 1993-96 
STA011B BMW 528I - ALL E39 BONNET 1996-00 
STA012 BMW 525I - SEDAN E34 BOOT 1988-91 
STA013 BMW 316I - HATCH BACK E36, COMPACT HATCH 1994-00 
STA013A BMW 316I - ALL E36, COMPACT BONNET 1994-00 
STA013B BMW 316I - SEDAN E36, COMPACT BOOT 1999-98 
STA013C BMW 318TI - HATCH BACK E36 HATCH 1996-01 
STA014 BMW 318I - ALL E36 BONNET 4/91-12/95 
STA014A BMW X5 E53 TAILGATE 03/01-02/07 
STA014B BMW X5 E53 BONNET 03/01-02/07 
STA015 CANOPY - Barhama Ventura   Hatch 00 on 
STA016 CANOPY - Crown   Tailgate 00 on 
STA017 CANOPY - Fleetline-Landcruiser   Hatch 93-5/104 
STA018 CANOPY - Flexiglass R   Tailgate 93-5/123 
STA019 CANOPY - Flexiglass S   Side Window 00 on 
STA020 CANOPY - Glass Tek   Hatch 93-5/131 
STA028 CHRYSLER - DODGE NITRO NITRO T/GATE 2008 
STA029A CHRYSLER - 300C, ALL V6, V8 BONNET 11/05-2011 
STA029AB CHRYSLER - 300C, SEDAN V6, V8 BOOT 11/05-2011 
STA029AC CHRYSLER - 300C, WAGON V6, V8 TAILGATE 06/06-2011 
STA029B CHRYSLER - VOYAGER, WAGON GS TAILGATE 02/97-04/01 
STA029BA CHRYSLER - VOYAGER, WAGON   TAILGATE 02-09 
STA029BB CITROEN - XSARA, ALL ALL BONNET 1997-06 
STA030 DAEWOO - 1.5I, HATCHBACK ALL HATCH 1994-97 
STA031 DAEWOO - CIELO, HATCHBACK ALL HATCH 10/95-12/97 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 85 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                             CAR AUTO LISTING                                __ 
 
STA032 DAEWOO - LANOS,HATCHBACK ALL HATCH 1997-03 

STA033 DAIHATSU - CHARADE,HATCHBACK 
G10S,G11,G26,G30,G101S,G1
02S,G202S,G112S,G200S,G20 HATCH 1978-00 

STA035 EUNOS - 500, SEDAN CAPP,CA8PE,CAEPE BOOT 1994-99 
STA036 FORD - FAIRLANE, SEDAN AU,AU2,AU3 BONNET 03/99 - 12/02 
STA037 FORD - FAIRLANE, SEDAN NA,NC-GHIA BOOT 06/88 - 12/94 
STA038 FORD - FAIRLANE, SEDAN NA,NC-GHIA BONNET 06/88 - 12/94 
STA039 FORD - FAIRLANE, SEDAN NF,NL-GHIA,TICKFORD BOOT 03/95 - 12/99 
STA040 FORD - FAIRLANE, SEDAN AU,AU2,AU3,BA BOOT 03/99 - 19/05 
STA041 FORD - FAIRLANE, SEDAN ZK,ZL BONNET 03/82 - 02/88 
STA042 FORD - FALCON, FAIRMONT, S/WAGON XD,XE,XF-GL-S-PAK TAILGATE 03/82 - 02/88 

STA043 
FORD - FALCON, FAIRMONT, SEDAN, S/WAGON, 
UTE, PANEL VAN XD,XE,XF,XG-GL,S-PAK BONNET 03/82 - 03/96 

STA044 FORD - FALCON, FAIRMONT, S/WAGON 
EA,EB,ED-GL,GLI,FUTURA,XR-
6 TAILGATE 03/88 - 08/94 

STA045 FORD - FALCON, FAIRMONT, SEDAN, S/WAGON 
EA,EB,ED-GL,GLI,FUTURA,XR-
6,XR-8,GT BONNET 03/88 - 08/94 

STA046 FORD - FALCON, FAIRMONT, SEDAN 
EA,EB,ED-GL,GLI,FUTURA,XR-
6,XR-8,GT BOOT 03/88 - 08/94 

STA047 FORD - FALCON, FAIRMONT, S/WAGON EF,,EL-GLI,FUTURA,XR-6 TAILGATE 08/94 - 08/98 

STA048 
FORD - FALCON, FAIRMONT, SEDAN, 
S/WAGON,UTE 

EF,EL-
GL,GLI,GLIS,FUTURA,XR-
6,XR-8,GT BONNET 08/94 - 08/98 

STA049 FORD - FALCON, FAIRMONT, SEDAN 

EF,EL-
GL,GLI,GLIS,FUTURA,XR-
6,XR-8,GT BOOT 08/93 - 08/98 

STA050 FORD - FALCON, FAIRMONT, S/WAGON AU,AU2,AU3,BA-LPG,BF TAILGATE 08/98 - 07/11 

STA051 
FORD - FALCON, FAIRMONT, SEDAN, S/WAGON, 
UTE 

AU,AU2,AU3-FORTE,SR,XR-
6,XR-
8,LPG,XL,XLS,PURSUIT,LPG BONNET 09/98 - 09/02 

STA052 FORD - FALCON, FAIRMONT, SEDAN 
AU,AU2,AU3,FORTE,SR,XR-
6,XR-8,LPG,LPG BOOT 09/98 - 09/05 

STA053 
FORD - FALCON, FAIRMONT, SEDAN, S/WAGON, 
UTE 

BA,BF,XL,XLS-RTV,SR,XT,XR-
6,XR-8,GT BONNET 09/02 - 04/08 

STA053A 
FORD - FALCON, FAIRMONT, SEDAN, S/WAGON, 
UTE AU,BA,BF TAILGATE 09/02 - 04/09 

STA054 FORD - FALCON, FAIRMONT, SEDAN BA,BF-SR,XT,XR-6,XR-8,GT BOOT 10/05-07 
STA054S FORD - FALCON, FAIRMONT, SEDAN BA,BF-SR,XT,XR-6,XR-8,GT BOOT 10/05-07 

STA055 
FORD - FALCON, FAIRMONT, SEDAN, S/WAGON, 
UTE 

FG,XL,XT-STD,G6,G6E,XR-
6,XR-8,GT BONNET 05/08 - 2011 

STA056 FORD - FALCON, FAIRMONT, SEDAN 
FG,XT-STD,G6,G6E,XR-6,XR-
8,GT BOOT 05/08 - 2011 

STA057 FORD - FALCON,FAIRMONT, UTE, PANEL VAN 
XH,XH2,XH3-LONGREACH,XR-
6,XR-8 BONNET 04/96-06/99 

STA060 
FORD - FALCON, FAIRMONT, SEDAN, S/WAGON, 
UTE, PANEL VAN XR,XT,XW,XYXA,XB,XC BONNET 09/66 - 07/80 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 86 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  CAR AUTO LISTING                              __ 
  

STA078L FORD - LASER, HATCHBACK KA,KB,GL,GHIA,SPORT,TURBO HATCH 1981-12/85 
STA078R FORD - LASER, HATCHBACK KA,KB,GL,GHIA,SPORT,TURBO HATCH 1981-12/85 
STA080 FORD - LASER, HATCHBACK KC,KE,GL,TX3 TURBO,GHIA HATCH 10/85-04/90 
STA082L FORD - LASER, HATCHBACK KF,KH,GL,XL,TX3 TURBO,GHIA HATCH 11/89-10/94 
STA082R FORD - LASER, HATCHBACK KF,KH,GL,XL,TX3 TURBO,GHIA HATCH 11/89-10/94 
STA091 FORD - TELSTAR ORION, SEDAN TX5,GHIA,SAVN BOOT 1988-97 
STA092 FORD - TELSTAR ORION, HATCHBACK TX5,GHIA,SAWN HATCH 1988-97 
STA095 FORD - TELSTAR, ALL TX5,TURBO,GL,GLX,GT,GHIA HATCH 05/83-10/89 
STA095AL FORD - TELSTAR, ALL TX5,TURBO,GL,GLX,GT,GHIA,AT,AV HATCH 1986-1992 
STA095AR FORD - TELSTAR, ALL TX5,TURBO,GL,GLX,GT,GHIA,AT,AV HATCH 1986-1992 
STA096L FORD - TELSTAR, ALL TX5,TURBO,GL,GLX,GT,GHIA,AX,AY HATCH 1992-1997 
STA096R FORD - TELSTAR, ALL TX5,TURBO,GL,GLX,GT,GHIA,AX,AY HATCH 1992-1997 
STA102 FORD - COUGER, COUPE SW,SX  Hatch 10/99-03 
STA102A FORD - CAPRI, 2D CONVERTIBLE SA,SB BOOT 1989-92 
STA103 FORD - ESCORT, HATCHBACK MK3,MK4,XR3,FX1 HATCH 1980-97 
STA109 FORD - ESCORT, HATCHBACK MK5 HATCH 1992-94 
STA111 FORD - ESCORT, HATCHBACK MK6 HATCH 1996-00 
STA113 FORD - ESCORT, SEDAN MK3,XR3 BOOT 1980-86 
STA116 FORD - ESCORT, S/WAGON MK6 TAILGATE 1996-2000 
STA139 FORD - EXPLORER, WAGON UN,UP,UX,UZ, TAILGATE 10/96-06/99 
STA140 FORD - EXPLORER, WAGON UN,UP,UX,UZ BONNET 10/96-06/99 
STA140A FORD - EXLORER, WAGON UN,UP,UX,UZ REAR GLASS 10/96-06/99 
STA141 FORD - EXPLORER, WAGON UQ,US,UT,UX,UZ BONNET 06/99-01/08 
STA142 FORD - EXPLORER, WAGON UQ,US,UT,UX,UZ REAR GLASS 06/99-01/08 
STA142A FORD - EXPLORER, WAGON UQ,US,UT,UX,UZ TAILGATE 06/99-01/08 
STA143 FORD- FESTIVA, HATCHBACK WB,WD,GLI,GLXI,TRIO HATCH 1994-12/97 
STA145L FORD - FESTIVA, HATCHBACK (CHASSIS DB1) WD,WF,TRIO,TRIO S,GLI,GLXI HATCH 1994-98 
STA145R FORD - FESTIVA, HATCHBACK (CHASSIS DB1) WD,WF,TRIO,TRIO S,GLI,GLXI HATCH 1994-98 
STA158 FORD - FOCUS, CONVERTIBLE LY BOOT 11/07-05/10 
STA159 FORD - FOCUS, HATCHBACK LR,ZETEK,ST170 HATCH 2000-04/05 
STA161 FORD - FOCUS, HATCHBACK LS,LT HATCH 05/05-2009 
STA162 FORD - F250, ALL RM,RN BONNET 07/01-06/07 
STA169 FORD - KA, HATCHBACK TA,TB HATCH 1999-03 
STA175 FORD - MONDEO, HATCHBACK HA,HB,GLX,AXXGB HATCH 07/95-98 
STA176 FORD - MONDEO, S/WAGON HA,HB,HC,HD,LX,NXXGB TAILGATE 1994-10/00 
STA177 FORD - MONDEO, HATCBACK HC,HD,HE,GLX,GHIA HATCH 12/96-12/00 
STA177A FORD - MONDEO, HATCBACK   HATCH 01/01-09/07 
STA180 FORD - MONDEO, SEDAN HA,HB,FXXGB BOOT 1993-99 
STA185 FORD RANGER P Mark 2 BONNET 2015 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 87 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                 CAR AUTO LISTING                               __ 
 

STA190 FORD - SIERRA, S/WAGON NXXGB TAILGATE 1984-88 
STA192 FORD - SIERRA, HATCHBACK GL,GHIA HATCH 1984-92 
STA193 FORD - SIERRA, HATCHBACK  RS COSWORTH,XR4i,4x4 HATCH 1986-92 
STA197 FORD - TERRITORY, WAGON SY,SX,TS.TX,GHIA BONNET 05/04-04/11 
STA198 FORD - TERRITORY, WAGON SY,SX,TS.TX,GHIA TAILGATE 05/04-04/11 
STA1981 FORD - TERRITORY, WAGON SY,SX,TS.TX,GHIA TAILGATE 2012+ 
STA198A FORD - TERRITORY, WAGON SY,SX,TS.TX,GHIA REAR GLASS 05/04-04/11 
STA201 FORD - TRANSIT, VAN VE TAILGATE 1986-92 
STA202 FORD - TRANSIT, VAN / BUS VH,VB TAILGATE 2000-06 
STA203A FORD - TAURUS, ALL DN,DP,GHIA BONNET 1995-98 
STA204A HOLDEN - ADVENTRA, S/WAGON VZ,CX6,LX6,SX6,CX8,LX8 TAILGATE 11/04-01/09 
STA204B HOLDEN - APOLLO, S/WAGON JK,JL TAILGATE 08/89-02/93 
STA205 HOLDEN - APOLLO, ALL JM,JP BONNET 03/93-05/97 
STA207 HOLDEN - APOLLO, S/WAGON JM,JP TAILGATE 03/93-05/97 
STA209 HOLDEN - ASTRA, HATCHBACK LB,LC,SL/X,SL/E HATCH 08/84-07/87 
STA210 HOLDEN - ASTRA, HATCHBACK AH,CD,CDX,CDXi,SRi,CD Ti HATCH 06/06-2010 

STA211 HOLDEN - ASTRA, HATCHBACK 
TS,CD,CITY,EQUIPPE,SXI, 
SRI,TURBO HATCH 09/98-12/05 

STA212 HOLDEN - ASTRA, HATCHBACK LD,SL/E,SL/X HATCH 07/87-07/89 
STA212A HOLDEN - ASTRA, S/WAGON AH,CD,CDX,CD Ti TAILGATE 07/05-03/10 
STA212BL HOLDEN - BARINA, HATCHBACK MF,MH HATCH 1989-94 
STA212BR HOLDEN - BARINA, HATCHBACK MF,MH HATCH 1989-94 
STA212C HOLDEN - BARINA, HATCHBACK MB,ML HATCH 1985-91 
STA213 HOLDEN - BARINA, HATCHBACK SB,CITY,JOY,SWING,Gsi HATCH 04/94-03/01 
STA214 HOLDEN - BARINA, HATCHBACK XC,SXi,SRi,EQUIPE,CD HATCH 02/01-12/05 
STA216 HOLDEN - CAMIRA, S/WAGON JB,JD.JE TAILGATE 04/83-07/89 
STA216A HOLDEN - CAPTIVA, S/WAGON CG,SX,CX,LX,MAXX TAILGATE 10/06-01/11 

STA220 
HOLDEN - COMMODORE,CALAIS,BERLINA-
S/WAGON 

VB,VC,VH,VK,VL-
EXEC,SL,SL/X,VACATIONER TAILGATE 08/79-1990 

STA221 HOLDEN - COMMODORE,CALAIS,BERLINA-SEDAN 

VB,VC,VH,VK,VL-
EXEC,SL,SL/X,VACATIONER,
SL/E,SS,GROUP A,SV88 BOOT 08/79-1990 

STA222 HOLDEN - COMMODORE,BERLINA,HSV-S/WAGON 

VN,VP-
EXEC,VACATIONER,SV 
LE,SPORT TAILGATE 1989-07/93 

STA223 
HOLDEN - COMMODORE,CALAIS,BERLINA,HSV-
SEDAN,S/WAGON,UTE 

VN,VP-
EXEC,VACATIONER,SV 
,SPORT,CLUB SPORT,SS 
GROUP A,GTS,LS,MALOO, BONNET 1989-07/93 

STA224 HOLDEN - COMMODORE,BERLINA,HSV-S/WAGON 
VR,VS-
EXEC,CLUBSPORT,MANTA TAILGATE 07/93-0897 

 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 88 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                       CAR AUTO LISTING                             __ 
 

STA225 

HOLDEN - 
COMMODORE,CALAIS,BERLINA,HSV-
SEDAN,S/WAGON,UTE 

VR,VS-EXEC,S,SS,POLICE,CLUB 
SPORT,GTS,MALOO,MANTA,SENATOR BONNET 08/93-12/98 

STA226 

HOLDEN - 
COMMODORE,BERLINA,CALAIS,HSV-
SEDAN 

VR,VS-EXEC,SS,POLICE,CLUB 
SPORT,GTS,MANTA,SENATOR BOOT 08/93-12/98 

STA226S 

HOLDEN - 
COMMODORE,BERLINA,CALAIS,HSV-
SEDAN 

VR,VS-EXEC,SS,POLICE,CLUB 
SPORT,GTS,MANTA,SENATOR BOOT 08/93-12/99 

STA227 
HOLDEN - COMMODORE,BERLINA,HSV-
S/WAGON 

VT/VX,VY,VZ-
EXEC,SS,AVALANCH,SENATOR TAILGATE 08/97-08/07 

STA228 

HOLDEN - 
COMMODORE,BERLINA,CALAIS,HSV-
SEDAN,S/WAGON,UTE 

VT/VX,VY,VZ- 
EXEC,SV6,LPG,S,SS,ROYALE,SV8,POLICE,
THUNDER,AVALANCH, 
ADVENTRA,CLUBSPORT,GTOCOUPE,GTS,
MALOO,MANTA,SENATOR,SV300, 
SV6000,SV99,XU6,XU8,CREWMAN,STORM BONNET 09/97-08/07 

STA229 
HOLDEN - COMMODORE,BERLINA,HSV-
SEDAN 

VT/VX,VY,VZ-
EXEC,SV6,LPG,S,SS,ROYALE,SSZ,SV6,SV8
POLICE,CLUBSPORT,GTS,MANTA,SENATO
R,SV300,SV600,SV99,XU6,XU8, 
CREWMAN,STORM BOOT 09/97-08/07 

STA229S 
HOLDEN - COMMODORE,BERLINA,HSV-
SEDAN 

VT/VX,VY,VZ-
EXEC,SV6,LPG,S,SS,ROYALE,SSZ,SV6,SV8
POLICE,CLUBSPORT,GTS,MANTA,SENATO
R,SV300,SV600,SV99,XU6,XU8, 
CREWMAN,STORM BOOT 09/97-08/07 

STA230 

HOLDEN - 
COMMODORE,BERLINA,CALAIS-
SEDAN,S/WAGON,UTE 

VE- SV6,OMEGA,SPORT WAGON,SS,SS-
V,POLICE, BONNET 08/06-2011 

STA231 
HOLDEN - 
COMMODORE,BERLINA,CALAIS-SEDAN VE- SV6,OMEGA,SS,SS-V,POLICE, BOOT 08/06-2011 

STA231A HOLDEN - Commodore, S/Wagon VE SV6 SPORTS WAGON TAILGATE 08/06-2011 

STA231B HOLDEN - FRONTERA, WAGON MX 
REAR 
GLASS 1998-03 

STA232A HOLDEN - MONARO, COUPE V2,CV6,CV8,CV8-R BOOT 
120/01-
09/04 

STA233 HOLDEN - GEMINI, S/WAGON, VAN TX,TC,TD,TE,TF,TG TAILGATE 1978-85 
STA234 HOLDEN - NOVA, HATCHBACK LE,LF HATCH 1989-94 
STA235 HOLDEN - NOVA, HATCHBACK LG,AE101,AE102 HATCH 1994-96 
STA236 HOLDEN - STATESMAN, SEDAN VQ BOOT 03/90-12/94 
STA237 HOLDEN - STATESMAN, SEDAN VQ BONNET 03/90-12/94 
STA238 HOLDEN - STATESMAN, SEDAN VR,VS BOOT 03/94-06/99 
STA239 HOLDEN - STATESMAN, SEDAN VR,VS BONNET 03/94-06/99 
STA240 HOLDEN - STATESMAN, SEDAN WH BOOT 6/99-04/03 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 89 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                              CAR AUTO LISTING                                 __ 
  

STA241 HOLDEN - STATESMAN, SEDAN WH BONNET 6/99-04/03 
STA241A HOLDEN - STATESMAN, SEDAN WK,WL BOOT 05/03-07/06 
STA242 HOLDEN - STATESMAN, SEDAN WM BOOT 08/06-10/08 
STA243 HOLDEN - STATESMAN, SEDAN WM BONNET 08/06-10/08 
STA243A HOLDEN - TORANA, LIFTBACK LX,SL,SS,SS,A9X LIFTBACK 03/76-03/78 
STA244 HOLDEN - VECTRA, HATCHBACK JR,JS,JS2,GL,CD HATCH 1996-12/02 
STA245 HOLDEN - VECTRA, ALL JR,JS,JS2,GL,CD BONNET 1996-12/02 
STA247 HOLDEN - VECTRA, HATCHBACK ZC,CD,CDX,CDXi HATCH 03/03-12/06 
STA248 HOLDEN - VECTRA, ALL ZC,CD,CDX,CDXi BONNET 03/03-12/06 
STA249 HOLDEN - VECTRA, SEDAN JS,JS2 BOOT 08/98-12/02 
STA249A HOLDEN - ZAFIRA, S/WAGON TT TAILGATE 2001-05 
STA250A HOLDEN - SHUTTLE, VAN WFR11,WFR12 TAILGATE 1984-90 
STA252 HONDA - CIVIC, HATCHBACK EG,EG3,EG4,EG5,EG6,GL,LX,BREEZE HATCH 1991-96 
STA253 HONDA - CIVIC, HATCHBACK CK,CD,CD 0,CC,CL,CL 0 HATCH 1988-91 
STA255 HONDA - CIVIC, HATCHBACK EG,EG5,VIN-7A3EG5,VIN-JHMEG5 HATCH 1992-96 
STA255A HONDA - CIVIC, HATCHBACK EU3,EU4,EP,EP3 HATCH 2000-05 
STA256 HONDA - CRV, WAGON RD,RD1,RD2   GLASS HATCH 1995-12/01 
STA258A HONDA - INTEGRA, LIFTBACK, COUPE DC2,DC4,DC5,TYPE R LIFTGATE 2000-06 
STA259A HONDA - JAZZ JAZZ HATCH 2006 
STA260A HONDA - MDX, WAGON YD BONNET 2002-06 
STA260AA HUMMER, WAGON H2 TAILGATE 2007-2009 
STA260B HYUNDAI - ACCENT, HATCHBACK   HATCH 2010-2017 
STA261 HYUNDAI - EXCEL, HATCHBACK X3,L,GL,GLS HATCH 09/94-06/00 
STA261B HYANDAI - I30   HATCH 2012-2017 
STA262 HYANDAI - IX35 IX35 HATCH 2012 
STA262A HYANDAI - I40 I40 BONNET 2011-2018 
STA263 HYUNDAI - GETZ, HATCHBACK TB,XL,GL,GLS,CLICK HATCH 11/02-08/11 
STA264 HYUNDAI - LANTRA, S/WAGON J2,J3,GL,GLS,SE,SPORTZ TAILGATE 1997-10/00 
STA265 HYUNDAI - ELANTRA, HATCHBACK FC,LAVITA HATCH 10/01-06/04 
STA266 HYUNDAI - ELANTRA, HATCHBACK XD,GL,GLS HATCH 10/00-09/03 
STA266A HYUNDAI - SONATA, SEDAN NF,EF-B BOOT 09/01-05/08 
STA267 HYUNDAI - SANTA FE, S/WAGON CM,SX,CRDi,SLX TAILGATE 11/06-11/08 
STA268 HYUNDAI - SANTA FE, S/WAGON SM,GL,GLS,ELITE TAILGATE 2000-04/06 
STA269 HYUNDAI - SANTA FE, S/WAGON SM,GL,GLS,ELITE GLASS HATCH 2000-04/06 
STA269A HYUNDAI - TIBURON, COUPE GK BOOT 03/02-10/10 
STA269AC HYUNDAI - TRAJET MG81A, MG81C TAILGATE 07/00-06/04 
STA269AD HYUNDAI - TUCSON, WAGON   TAILGATE 08/04-2010 
STA269BA HYUNDAI - TUCSON, WAGON JN REAR GLASS 08/04-2010 
STA269BB HYUNDAI - ACCENT, HATCHBACK LC.LS VIN - KMHCF31C HATCH 03/03-04/06 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 90 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                               CAR AUTO LISTING                                  __ 
 

STA269AB HYUNDAI - i LOAD TQ TAILGATE 02/08-2013 
STA269C JAGUAR - SEDAN,COUPE,CONVERATBLE SOVEREIGN,XJ40,XJ6,XJS,XJSC,SPORT BONNET 1984-11/98 
STA269D JAGUAR- SEDAN,COUPE,CONVERTIBLE SOVEREIGN,XJ40,XJ6,XJS,XJSC,SPORT BOOT 1984-11/98 
STA269E JAGUAR- SEDAN, XK BONNET 2006 
STA270C JEEP - GRAND CHEROKEE, WAGON WH,WK,LIMITED,OVERLAND,LERADO,SRT 8 TAILGATE 06/05-2011 
STA271 JEEP - GRAND CHEROKEE, WAGON WH,WK,LIMITED,OVERLAND,LERADO,SRT 8 BONNET 06/05-2011 
STA271A JEEP - GRAND CHEROKEE, WAGON WJ,WG,LIMITED,OVERLAND,LERADO BONNET 11/00-05/05 
STA271B JEEP - GRAND CHEROKEE, WAGON  WJ,WG,LIMITED,OVERLAND,LERADO TAILGATE 11/00-05/05 
STA272 JEEP - GRAND CHEROKEE, WAGON WJ,WG,LIMITED,OVERLAND,LERADO REAR GLASS 11/00-05/05 
STA273A JEEP - CHEROKEE, WAGON XJ TAILGATE 1988-90 
STA273B JEEP - CHEROKEE, WAGON KJ TAILGATE 1993-07 
STA274 JEEP - CHEROKEE, WAGON XJ,KJ REAR GLASS 1993-07 
STA276AA JEEP - CHEROKEE, WAGON XJ TAILGATE 1993-01 
STA276B JEEP - CHEROKEE, WAGON KJ,XJ BONNET 2003-07 
STA278 JEEP - GRAND CHEROKEE, WAGON WJ,ZJ,ZG,LIMITED,LERADO TAILGATE 07/99-10/00 
STA280 JEEP - GRAND CHEROKEE, WAGON WK,WH,LIMITED,LERADO,OVERLAND REAR GLASS 06/05-01/11 
STA280A JEEP - GRAND CHEROKEE, WAGON WK,WH,LIMITED,LERADO,OVERLAND BONNET 06/05-01/11 
STA2811 JEEP - Commander   TAILGATE 2005 
STA280B KIA RIO   HATCH 05-11 
STA281A KIA - SORENTO, WAGON BL TAILGATE 2002-04/07 
STA281B KIA - SORENTO, WAGON BL BONNET 02/03-09/09 
STA282A KIA - CARNIVAL, WAGON KV11,VQ,LE,LS,EX,CLASSIC TAILGATE 09/99-03/09 
STA282B KIA - CARNIVAL, WAGON KV11,VQ,LE,LS,EX,CLASSIC BONNET 09/99-03/09 
STA284 LEXUS - LS400, SEDAN UCF10R,UCF11R BONNET 1989-94 
STA285 LEXUS - ES300, SEDAN VCV10 BONNET 1992-96 
STA286L LEXUS - ES300, SEDAN MCV20 BONNET 1996-01 
STA286R LEXUS - ES300, SEDAN MCV20 BONNET 1996-01 
STA288 LEXUS - LS400, SEDAN UCF20R,UCF21R BONNET 1194-11/00 
STA2881 LEXUS - SUV RX 350 TAILGATE sta 
STA288A LAND ROVER, WAGON RANGE ROVER Tailgate 03/88-1995 
STA288B LAND ROVER   BONNET 05 
STA292 MAZDA - 323, HATCHBACK BG,ASTINA,SP,GT HATCH 1989-97 
STA293 MAZDA - 323, HATCHBACK BF HATCH 1985-08/89 
STA295L MAZDA - 626, HATCHBACK, SEDAN GD,GE HATCH 1986-97 
STA295R MAZDA - 626, HATCHBACK, SEDAN GD,GE HATCH 1986-97 
STA297A MAZDA - 2, HATCHBACK DY HATCH 12/02-08/07 
STA297 MAZDA - 3, HATCHBACK BK,MPS HATCH 2003-09/09 
STA298 MAZDA - 6, HATCHBACK, GG,CLSIC,LUXURY HATCH 08/02-04/07 
STA298AA MAZDA - 6,SEDAN GG,CLSIC,LUXURY BOOT 08/02-01/08 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 91 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                CAR AUTO LISTING                                __ 
 

STA298A MAZDA - MX6, COUPE GE,4WS BOOT 1994-98 
STA300 MAZDA - 929L, S/WAGON LA TAILGATE 05/79-02/89 
STA301L MAZDA - 929, ALL LA,HB BONNET 02/82-06/87 
STA301R MAZDA - 929, ALL LA,HB BONNET 02/82-06/87 
STA302L MAZDA - 929, ALL HC,HD BONNET 06/87-11/97 
STA302R MAZDA - 929, ALL HC,HD BONNET 06/87-11/97 
STA303 MAZDA - TRIBUTE, WAGON YU,CU,DX,CDX TAILGATE 02/01-01/04 
STA303A MERCEDES -ML, WAGON W 163,ML270,ML320,ML430 TAILGATE 09/98-04/03 
STA303B MERCEDES - SEDAN C180 BONNET 2006 
STA304 MERCEDES -ML, WAGON(OPTION B ML320) W 163,ML270,ML320,ML430 BONNET 09/98-04/03 
STA305 MERCEDES - SL 500, CONVERTIBLE R230 BOOT 07/02-04/06 

STA305A 
MERCEDES - SLK 230 KOMPRESSOR, 
CONVERTIBLE R170 BOOT 02/97-07/04 

STA305C MERCEDES - SLK 350, CONVERTIBLE R171 BOOT 08/04-06/11 
STA305D MERCEDES - A160 & A190 W 168 HATCH 1998-05 

STA306 
MERCEDES - C200 KOMPRESSOR, 
CONVERTIBLE W202,W203,CL203,S203 BONNET 2000-02 

STA306A MERCEDES - VAN MB140 TAILGATE 1987-1995 
STA307 MERCEDES - VITO, VAN 115CDI,COMPACT,EXTRA LONG,LONG HI-ROOF TAILGATE 2004-2006 
STA307A MERCEDES - VITO, VAN 230,113 TAILGATE 1996-03 
STA307AA MINI - COOPER, HATCHBACK R50 HATCH 2001-07 
STA308 MITSUBISHI - COLT, HATCHBACK RA,RB,RC,RD,RE,GLX,GL,XL,45.,GSR,SE HATCH 01/81-06/90 
STA309 MITSUBISHI - CHALLENGER, WAGON PB TAILGATE 12/09-2013 
STA310 MITSUBISHI - GALANT, HATCHBACK SC,SD,SE,SF,SG,HG,HH,GSR HATCH 11/88-93 
STA313A MITSUBISHI - LANCER, HATCHBACK CA,CB,SX,SE,GL,GLX,GSR HATCH 06/88-06/92 
STA314 MITSUBISHI - LANCER, S/WAGON LM,LH,CC,GL,GLXi,EL TAILGATE 06/92-04/96 
STA316 MITSUBISHI - MAGNA / VERADA, S/WAGON TE,TF,TH,KE,KF,EXEC,ALERA,ALTERA,ADVANCE TAILGATE 06/96-06/00 
STA317 MITSUBISHI - MAGNA / VERADA, ALL TF,KF,EXEC,ADVANCE,Xi,Ei BONNET 06/97-01/99 

STA320 MITSUBISHI - MAGNA / VERADA, WAGON 
TJ,KJ,EXEC,ALERA,ALTERA,ADVANCE,SPORTS,
RALLiART,Ei,Xi TAILGATE 07/00-05/03 

STA322 MITSUBISHI - MAGNA / VERADA, WAGON TR,TS,KS,KF,EXEC,PREMIUM,TOURING,LUXURY TAILGATE 04/91-12/96 
STA323 MITSUBISHI - MAGNA / VERADA, WAGON TW,LS,ES,VR,KL,KW,Ei TAILGATE 10/04-07/05 
STA328 MITSUBISHI - MIRAGE, HATCHBACK MJ,MK,MH HATCH 10/91-97 
STA331 MITSUBISHI - OUTLANDER, WAGON ZE TAILGATE 12/02-05/04 
STA331A MITSUBISHI - OUTLANDER, WAGON ZG,ZH TAILGATE 10/06-2013 
STA338 MITSUBISHI - SIGMA, WAGON GE,GN,GL,SE,GALLANT TAILGATE 09/78-12/87 
STA339 MITSUBISHI SEDAN 380 SX BONNET 2006 
STA340A MITSUBISHI - CARISMA, SEDAN DA2A BOOT 1995-96 
STA344A NISSAN - 300ZX, COUPE   HATCH 1984-94 
STA346 NISSAN - BLUEBIRD, WAGON 910 TAILGATE 1981-85 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 92 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                 CAR AUTO LISTING                                __ 
 

STA346A NISSAN ELGRAND   TAILGATE 2006 
STA347 NISSAN - MAXIMA, SEDAN A32 BONNET 02/95-12/99 
STA350L NISSAN - MAXIMA, SEDAN A33 BONNET 12/99-11/03 
STA350R NISSAN - MAXIMA, SEDAN A33 BONNET 12/99-11/03 
STA350A NISSAN - MAXIMA, SEDAN J31 BOOT 12/03-03/09 
STA350B NISSAN - MAXIMA, SEDAN J31 BONNET 12/03-03/09 
STA351 NISSAN - MICRA, HATCHBACK K11 HATCH 1995-97 
STA353A NISSAN - PATHFINDER, WAGON D21 TAILGATE 12/86-09/92 
STA354 NISSAN - PATHFINDER, WAGON R50,RX,Ti GLASS HATCH 1996-12/98 
STA354A NISSAN - PATHFINDER, WAGON R50,RX,Ti GLASS HATCH 1999-06/05 
STA355 NISSAN - PATHFINDER, WAGON R51,ST,ST-L,Ti,TITANIUM TAILGATE 07/05-05/10 
STA355A NISSAN - PATHFINDER, WAGON R51,ST,ST-L,Ti,TITANIUM GLASS HATCH 07/05-05/10 
STA356 NISSAN - PATROL, WAGON GQ,RX,ST,ST30,DX,Ti,Gli BONNET 1988-04/99 
STA357 NISSAN - PATROL GU,Y61,DX,ST,ST-L,ST-S,TI BONNET 1997 - 2012 
STA358 NISSAN - PATROL, WAGON MQ REAR GLASS 1981-87 
STA360 NISSAN - PINTARA, HATCHBACK U12 HATCH 1990-93 
STA361 NISSAN - PULSAR, HATCHBACK N10 HATCH 1981-82 
STA363 NISSAN - PULSAR, HATCHBACK N13 HATCH 1986-88 
STA364 NISSAN - PULSAR, HATCHBACK N16 HATCH 2001-05 
STA365L NISSAN - PULSAR, HATCHBACK N14 HATCH 08/90-96 
STA365R NISSAN - PULSAR, HATCHBACK N14 HATCH 08/90-96 
STA372 NISSAN - TERRANO, WAGON D21,R2M,R3M,WIDE R3M,A1M,A2M TAILGATE 08/86-08-95 
STA377 NISSAN - SUNNY, WAGON B11 TAILGATE 1981-90 
STA378 NISSAN - SUNNY, WAGON B12 TAILGATE 1984-89 
STA382 NISSAN - SUNNY, WAGON Y10 CALIFORNIA TAILGATE 10/90-04/96 
STA383A NISSAN - X-TRAIL, WAGON T30 TAILGATE 10/00-09/07 
STA383B NISSAN - X-TRAIL, WAGON T31 TAILGATE 10/07-02/14 
STA384C PEUGEOT - 308, WAGON XS HDI. XSE HDI TAILGATE 02/08-07/11 
STA384D PEUGEOT - 306, WAGON D8, D9 TAILGATE 08/99-10/04 
STA384A PROTON, SATRIA, HATCHBACK C90,GL,GLS,Gli,Xli,XLS,Gti TAILGATE 02/97-01/07 
STA384B PORSCHE - 928, COUPE S4 BONNET 01-87-08/91 
STA385 PORSCHE - 911, COUPE 2.0,2.7,3.0,TARGA,CARRERA,SC,930,TURBO,SPORT BONNET 1964-11/89 
STA385A PORSCHE - 911,  CARRERA BOOT 1999-? 
STA386 PORSCHE - BOXSTER, COUPE 986 BONNET 01-97-10/99 
STA387 PORSCHE - BOXSTER, COUPE 986 BOOT 01-97-10/99 
STA390 LAND ROVER, WAGON RANGE ROVER Tailgate 03/88-1995 
STA391 LAND ROVER WAGON RANGE ROVER REAR GLASS 94-00 
STA395 RENAULT - LAGUNA, HATCHBACK LAGUNA  HATCH 2001-01/06 
STA396 RENAULT - SCENIC, HATCHBACK SCENIC,Megane HATCH 1996-2003 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 93 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                CAR AUTO LISTING                               __ 
 
STA396A RENAULT - SCENIC,  Scenic REAR Window 2000-2003 
STA397 SAAB - 900, HATCHBACK  900 HATCH 1985-12/90 
STA398 SAAB - 900, HATCHBACK  900 HATCH 1993-97 
STA399 SAAB - 900, ALL 900 BONNET 1991-98 
STA400 SAAB - 9000, ALL 9000 BONNET 1993-98 
STA401 SAAB - 9-5, WAGON 9-5,S,SE,ARC TAILGATE 05/99-10/02 
STA403 SAAB - 9000, HATCHBACK 9000 HATCH 1986-91 
STA403A SMART CAR, HATCHBACK W454,FORFOUR,PULSE,BRABUS HATCH 04/04-01/07 
STA404 SSANGYONG - MUSSO, WAGON MUSSO TAILGATE 07/96-07/98 
STA405 SSANGYONG - REXTON, WAGON Y200,RX270,II RX270,RX290,RX320 TAILGATE 01/04-2013 
STA408 SEAT - IBIZA, HATCHBACK IBIZA HATCH 1995-97 
STA410 SUBARU - LEONE, WAGON AM2,AM3,AM5,AJ5 TAILGATE 1980-84 
STA412 SUBARU - IMPREZA, WAGON GF,LX,GX,RX,WRX,SPORTS WAGON TAILGATE 09/96-10/00 
STA412A SUBARU - IMPREZA, WAGON GG,GG3,GGC,GGA,GG9,GGG Tailgate 08/00-08/07 
STA413 SUBARU - LIBERTY, WAGON BG,LX TAILGATE 06/94-03/99 
STA416A SUBARU XV XV TAILGATE 2013-current 
STA419 SUZUKI - ALTO GF  TAILGATE 2009-2016 
STA421 SUZUKI - JIMNY, WAGON SN413 TAILGATE 1993-2001 
STA424 SUZUKI - SAMURAI, HARD TOP 4x4 SJ70V,SJ80V TAILGATE 1990-99 
STA425 SUZUKI - SWIFT, HATCHBACK SA310,GA,GL,GC HATCH 01/85-03/87 
STA425AL SUZUKI - SWIFT, HATCHBACK SF310,SF413,SF416,GA,GL,GLX HATCH 1989-05/95 
STA425AR SUZUKI - SWIFT, HATCHBACK SF310,SF413,SF416,GA,GL,GLX HATCH 1989-05/95 
STA426L SUZUKI - SWIFT, HATCHBACK SF413,CINO GP,CINO,Gti HATCH 01/89-12/99 
STA426R SUZUKI - SWIFT, HATCHBACK SF413,CINO GP,CINO,Gti HATCH 01/89-12/99 

STA426B SUZUKI - SIERRA, ALL SJ41,MG410,SJ413 
REAR SWING 
DOOR 1990-99 

STA428 TOYOTA - AVALON, SEDAN MCX10 BONNET 1999-06 
STA431 TOYOTA - CAMRY, HATCHBACK SV11 HATCH 1982-04/87 

STA431A TOYOTA - CAMRY, ALL 
SV10,SDV10,SXV10,SV11,SV12,SV20,SV
Z20R,SV21,SV22,SV25 BONNET 1982-03/93 

STA432L TOYOTA - CAMRY, WAGON SV20,SV21,SV22 TAILGATE 05/87-03/93 
STA432R TOYOTA - CAMRY, WAGON SV20,SV21,SV22 TAILGATE 05/87-03/93 
STA433 TOYOTA - CAMRY, WAGON SDV10 TAILGATE 03/93-0398 

STA434 TOYOTA - CAMRY, SEDAN 
SDV10,SXV10,VC10,VDV10,SV30,SV21,S
V35,VIENTA BOOT 07/90-08/97 

STA435A TOYOTA - CAMRY, ALL SXV20,MCV20,GRACIA BONNET 08/97-08/02 
STA436 TOYOTA - CAMRY, SEDAN AURION ACV30,ACV36,MCV36 BONNET 2002-06/06 
STA436A TOYOTA - CAMRY, SEDAN AURION ACV40R BONNET 07/06-2013 
STA437 TOYOTA - CELICA, LIFTBACK / COUPE AT160,ST162 BOOT 1985-89 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 94 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                             CAR AUTO LISTING                                  __ 
 

STA441 TOYOTA - CELICA, LIFTBACK / COUPE RA40,TA40,RA60,SA60,AT160,ST160 
LIFT GATE / 
HATCH 1977-90 

STA446 TOYOTA - COROLLA / SECA, HATCBACK / COUPE AE86,SPRINTER HATCH 1983-86 
STA447A TOYOTA - COROLLA / SECA, HATCHBACK / LIFTBACK AE92,AE93,AE94,SECA,SPRINTER HATCH 05/87-94 
STA449 TOYOTA - COROLLA / SECA, LIFTBACK AE112 LIFT GATE 1997-02 

STA450 
TOYOTA - COROLLA / SECA, LIFTBACK / HATCHBACK 
/ WAGON KE70,AE71,AE80,SPRINTER 

TAILGATE / 
HATCH / 
TAILGATE 1979-89 

STA451 TOYOTA - COROLLA / SECA, HATCHBACK AE101,AE102,FX SJ, FX GT HATCH 1991-97 
STA452 TOYOTA - COROLLA / SECA, HATCHBACK AE82,SPRINTER HATCH 1985-87 
STA453 TOYOTA - COROLLA / SECA, WAGON NZE TAILGATE 08/00-2007 
STA454 TOYOTA - COROLLA / SECA, 4D HATCH NZE HATCH 08/00-2007 
STA455 TOYOTA - COROLLA / HATCHBACK ZRE 152R HATCH 2008-?? 
STA457 TOYOTA - CORONA, WAGON  RT130,TT132,XT130 TAILGATE  1979-83 

STA458 TOYOTA - CORONA, WAGON 
TX67V,KT147,TT141,TT141,CT147,ST
141,RT142 TAILGATE 1982-85 

STA459 TOYOTA - CORONA, LIFTBACK TT131 LIFT GATE 1978-82 

STA462L TOYOTA - CRESSIDA, ALL 
TX67V,YX76,SX60,SX70,RX60,GX60,G
X61,GX71,LX70,MX61 BONNET 1981-89 

STA462R TOYOTA - CRESSIDA, ALL 
TX67V,YX76,SX60,SX70,RX60,GX60,G
X61,GX71,LX70,MX61 BONNET 1981-89 

STA463L TOYOTA - CRESSIDA, ALL MX83,LX80 BONNET 1988-93 
STA463R TOYOTA - CRESSIDA, ALL MX83,LX80 BONNET 1988-93 
STA470 TOYOTA - LANDCRUISER 60 SERIES, WAGON BJ60,HJ60,FJ60,BJ61,HJ61,FJ61,FJ62 TAILGATE 8/80-10/90 

STA471 
TOYOTA - LANDCRUISER PRADO, 100 SERIES, 
WAGON 

RZJ120,KZJ120,KDJ120,VZJ120,GRJ1
20 BONNET 10/02-10/09 

STA471A TOYOTA - HIACE, VAN / BUS RZH,LH,LXH,KCH,KZH,RCH,YY TAILGATE 1989-05 
STA471AAL TOYOTA - HIACE, VAN / BUS (SLWB) KDH,TRH TAILGATE 03/05-2014 
STA471AAR TOYOTA - HIACE, VAN / BUS (SLWB) KDH,TRH TAILGATE 03/05-2014 
STA472 TOYOTA HI-ACE, COMMUTER LH184 TAILGATE 2000-05 

STA472AL TOYOTA HI-ACE, (SWB / LWB) 
KDH223R,KDH223,KDH201,KDH206,K
DH221 TAILGATE 11/06-2008 

STA472AR TOYOTA HI-ACE, (SWB / LWB) 
KDH223R,KDH223,KDH201,KDH206,K
DH222 TAILGATE 11/06-2008 

STA473L 
TOYOTA - LANDCRUISER / PRADO 80 & 90 SERIES, 
ALL 

RZJ90,KZJ90,KDJ90,VZJ90,FJ80,HDJ8
0,HZJ80,HDJ82,FZJ80 BONNET 1990-98 

STA473R 
TOYOTA - LANDCRUISER / PRADO 80 & 90 SERIES, 
ALL 

RZJ90,KZJ90,KDJ90,VZJ90,FJ80,HDJ8
0,HZJ80,HDJ82,FZJ80 BONNET 1990-98 

STA474 
TOYOTA - LANDCRUISER / PRADO 80 & 90 SERIES, 
WAGON 

RZJ90,KZJ90,KDJ90,VZJ90,FJ80,HDJ8
0,HZJ80,HDJ82,FZJ80 TAILGATE 1990-98 

STA475 TOYOTA - LANDCRUISER 100 SERIES, ALL 
HDJ100,UZJ100,TRJ120,KDJ120,GRJ1
20 BONNET 1998-10/09 

STA476 
TOYOTA - LANDCRUISER / PRADO 100 SERIES, 
WAGON 

HDJ100,UZJ100,TRJ120,KDJ120,GRJ1
20 TAILGATE 1998-10/07 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 95 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  CAR AUTO LISTING                              __ 
 

STA477 TOYOTA - LANDCRUISER 200 SERIES - ALL VDJ200,UZJ200 BONNET 11/07-2011 
STA477A TOYOTA - LANDCRUISER 200 SERIES - ALL VDJ200,UZJ201 TAILGATE 11/07-2012 
STA478 TOYOTA - LANDCRUISER, TROOP CARRIER HZJ78,HDJ78R POP TOP 10/99-02/07 
STA479 TOYOTA - LEXCEN, WAGON VN,VP,VR TAILGATE 1989-95 
STA480 TOYOTA - LEXCEN, ALL VN,VP,VR BONNET 1989-95 
STA481 TOYOTA - LEXCEN, SEDAN VN,VP BOOT 1989-93 
STA482 TOYOTA - LEXCEN, SEDAN VR BOOT 1993-95 
STA485 TOYOTA - SOARER, COUPE JZZ30,UZZ31,UZZ32 BOOT 05/95-03/01 
STA489 TOYOTA - SUPRA, COUPE MA61 BONNET 1983-87 
STA490 TOYOTA - SUPRA, COUPE MA61 HATCH 1983-87 
STA492 TOYOTA - T18, HATCHBACK TE72 HATCH 1979-83 
STA492A TOYOTA - TERCAL, WAGON AL25 TAILGATE 1983-88 
STA493 TOYOTA - VIENTA, ALL MCV20 BONNET 08/97-10/00 
STA494 TOYOTA - VIENTA, ALL VCV10 BONNET 10/95- 
STA495 TOYOTA - YARIS, HATCHBACK NCP90R,NCP91R,YRS,YRX HATCH 11/05-10/11 
STA496 VOLKSWAGEN - PASSAT, ALL 3B,VARIANT,TURBO,4MOTION,SYNCRO V6 BONNET 1998-01 
STA497 VOLKSWAGEN - POLO, HATCHBACK 6N HATCH 1995-2002 
STA498 VOLKSWAGEN - BORA, ALL 1J BONNET 1998-2005 
STA499 VOLKSWAGEN - POLO, HATCHBACK 9N,ELITE,MATCH,SE,S HATCH 07/02-07/06 
STA500 VOLKSWAGEN - GOLF, HATCHBACK TYPE 3,GTI,VR6 HATCH 1994-98 
STA501 VOLKSWAGEN - GOLF, HATCHBACK TYPE 5,Tsi,DSG,R32,Gti,Fsi HATCH 2004-03/10 
STA502 VOLKSWAGEN - GOLF, HATCHBACK TYPE 4 BONNET 1998-05 
STA502A VOLKSWAGEN - GOLF, HATCHBACK TYPE 4  TAILGATE 10/95-04/05 
STA503 VOLKSWAGEN - TRANSPORTER, VAN T3,KOMBI,WINDOW,SYNCRO TAILGATE 1984-12/92 
STA503A VOLKSWAGEN - TRANSPORTER, VAN T4 TAILGATE 1993-07/04 
STA503B VOLKSWAGEN - TRANSPORTER, VAN T5, SWB,LWB TAILGATE 08/06-02/10 
STA504 VOLKSWAGEN - TOUAREG, WAGON 7L,V6,V8 BONNET 2003-10/06 
STA507 VOLVO - 145, WAGON B18A TAILGATE 1968-69 
STA508 VOLVO - 240, WAGON B23E,GL TAILGATE 1983-85 
STA509 VOLVO - 240, WAGON GLE,B230FX TAILGATE 1986-93 
STA510 VOLVO - 245 / 265, WAGON B21E,B27E TAILGATE 1975-81 
STA511 VOLVO - 360, HATCHBACK 360 HATCH 1984-90 
STA512 VOLVO - 440, HATCHBACK   440,GLT HATCH 1990-96 
STA513 VOLVO - 460, SEDAN 460,GLE BONNET 1990-92 
STA514 VOLVO - 480, HATCHBACK 480,ES HATCH 1987-93 
STA515 VOLVO - 960, ALL 960 BONNET 1994-97 
STA516 VOLVO - 960, WAGON 960 TAILGATE 1991-97 
STA517 VOLVO - 740, WAGON 740 TAILGATE 1985-92 
STA518 VOLVO - 740, ALL 740 BONNET 1985-92 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 96 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  CAR AUTO LISTING                              __ 
 

STA520 VOLVO 740 / 760, SEDAN 740,760 BOOT 1985-92 
STA521 VOLVO - 850, SEDAN 850 BOOT 1992-98 
STA521A VOLVO - 850, WAGON 850 TAILGATE 1992-98 
STA522 VOLVO - 940, WAGON 940 BONNET 1990-98 
STA523 VOLVO - 940, WAGON 940 TAILGATE 1990-98 
STA524 VOLVO S 40, SEDAN S 40 BOOT 1996-2013 
STA525 VOLVO S 40, SEDAN S 40 BONNET 1996-2013 
STA526 VOLVO XC90 XC90 TAILGATE 06/03-10/06 



SSTTRRUUTTSS  AAUUSSTTRRAALLIIAA  

 
  
                                            Unit 3/110 Fitzgerald Road. Laverton North, Victoria 3026  
                                                         E-mail: Info@strutsaustralia.com 
                                                       Web: www.strutsaustralia.com.au         Page: 97 

                                Ph: 03 9369 8113 Fax: 03 9369 8070          Created by: Azz Ref: 100119 

 

                                                                  CAR AUTO LISTING                               __ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 


	CONTENTS ___________________
	STANDARD GAS STRUTS 6/15 DIA      ________
	KBCP10-18SM6         KBCP10-18FM6
	KBCP10-25BM6                            KBCP10-18RM6



	Product
	 Extended 

	Product
	Product
	Product
	 Extended
	 Length

	Product
	 Extended 

	Product
	 Extended

	Product
	 Extended 

	Product
	Product
	Product
	Length

	Product
	Length

	350N
	100mm
	360mm
	KCS100
	350N
	Product Code
	Specifications
	Specifications
	M
	M2
	D
	E
	E2
	E3
	FINISH
	Code
	LE
	LS
	TS
	D1-D2
	THREAD
	FORCE
	Code
	LE
	LS
	TS
	D1-D2
	THREAD
	FORCE

	Code
	Description

	140mm
	420mm
	KCS140
	Product
	D1/D2
	KBCP10-18SM6
	KBCP10-18PGM6
	316 Stainless
	316 Stainless

	Specifications
	KCLS0624M6

	D
	D
	D
	KEMT510M8
	D
	D
	D
	D
	D
	D
	D
	Specifications
	KBI031
	KLYBLK-05
	KRLRH
	KBIE0013S
	13
	21
	14
	4
	7.5
	13.5
	External

	Material
	Material
	Material
	M8x1.25mm
	Stainless Steel

	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	PRODUCT CODE
	PRODUCT CODE
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code
	Product Code


